STAR

$EFEN—S52/Y

HEa—k K49486

< L TSW2000
miEfeEIzX TSW2000-01

LSH

Ok
=
O

‘BB TEX DRI, 9 EhmEtR RN e IER<IEELY,
RO —ER IS, 8-ty MESTDNADERRHHIET,

HABHIHIAY —






B oM =

EBERD TEXIZDONT RISIMROBHIGFRICONT
1. ERERZHSLOBRL, THRA & S < R a0, S ORBOWERBRONER W) 11, 85ETS
J B % IFETT, AL, BRI Gl > T b, HIR
O & f £ RO & SRS ECUET < B bbb Y
@ B (0 -
@ A RO DT
@ HEE ffEERE OB FFRIFI I Z EREOMGFER T T L &
o T, BRI T 5 Th, A CHH

STEAIFHENES L UM COWT SRR S QU 7P

X MR NS ERER LU, REEROR—

LFTL—MZRRLTVET,
2. o [— | [/ ik BFozregLTE
D i‘j‘o

(=] -+ varme, fAAERTOAEED
N g Nl U A (i

e Ty A EN AT,
RS AR




TSW2000 HAEREIR—55 /N

2P7L—L-FA—/\

7~

EITHRA

065-0055-1014

AHED| & dh F 5

ST N <IN/ )

%%

1 144175000M

TaA L bAZ L RCP

2 | BSZ10035 aBfARLE 7 M10X35
3 | WRALO eIV TR M10

4 | WSA10 NREP A 327 M10

5 | NSz10 aBgFyh 8 2¥= MI1O
6 | N\NF10 774y M10
7 | 1441760004 tvyFCP

8 | BZ20045 ALk 8.8 M20xX45
9 | NZ20 Sk 8 232 M20

10 | WSA20 NREP A 327 M20

11 | BZ12055 ALE 8.8 M12X55
12 | BZ12040 ALE 8.8 M12X40
13 | 065482200M Ty ;12

14 | 042783600M Ty ;12

15 | WSA12 NEYPHx 397 M1 2
16 | NZ12 Fv bk 8 2v=2 MI12

17 1338110004

2P71L—LCP

18 131006400M

ECP; F30X131

19 | BZ12045 ALEr 8. 8 M12X45
20 | NNF12 7504 uarFy b M1 2
21 | ONCS1 JYV—2=v7)L C PT1,/8

22 0906771004

aU—Ur 7Ty b

23 000006200M

nU—yJ ey 0, 1

24 | WS22

NRHPFHFX 237 M22

25 | NZ22150

Fvh 8 2v=2 M22X1. 50

NN I[N | === =R RN == =D |D|—

-1-




TSW2000 HAEREIR—55 /N

2P7L—L-FA—/\

~

ETAE

065-0055-1014

AR E O & B <R (EEAS fid
26 | ONA6 JV)—A=v7 ) A M6 2
27 | 090678000M Ty 30X4. 5 2
28 | 000739000M VoFEY: 9 2
29 | 1441710004 Re—~CP ;L 1
30 | 1441720004 Re—/SCP ;R 1
31 | BZ16160 AR 8. 8 M16X160 4
32 | BZ16040 ALE 8. 8 M16X40 4
33 | 042322200M Jvix; 16 4
34 | WSAL6 NEYPHR 337 M16 8
35 | NZ16 Fvhk 8 232 M16 8
36 | 1441730004 F ¥ FILCP 1
37 | BZ12035 ALE 8.8 M12X35 8
38 | WSAl2 NEYPHx 397 M1 2 8
39 | 1441740004 2K RCP 1
40 | 107069000M EYr 20 1
41 | 000738000M JoFEY; 6 1
42 | CAP0O75075 Xyv/sS 7T5X75X3. 2 1




TSW2000 HAEREIR—55w/N

ARTIL—LA

14126
065-0055-1015

AR E O & B W A W (EEAS T
1 1445930003 a2 _XF7 7L —LCP 1
2 | BZ12040 ALK 8.8 M12X40 6
3 | 042783600M Ty 12 6
4 | WSA12 NP HFX 3347 M1 2 6
5 | NZ12 Fyhk 8 232 M12 6
6 | 1446160003 —FkCP 1
7 | BZ12030 ALK 8. 8 M12X30 8
8 | WSA12 NREXPAX 337 M1 2 8
9 |NZ12 Fvh 8 232 M12 8
10 | 1380630000 afhAf% ;2335 8
11 | TMB06035 Ho7 X RrY B—1 6X35 40
12 | 1382500000 HA R 1
13 | SM08035 —%7axY M8X35 4
14 | 044097200M Uiy 8 4
15 | WsA08 NEYPHx 397 MS 4
16 | NSZ08 afBZFyh 8 2va2 MS 4
17 | 1446180000 H3—: RE 1
18 | 1446650000 ZFL—h 1
19 | 144666000M ZFL—h 1
20 | BZ12030 ALk 8.8 M12X30 4
21 | WSA12 NEYPHR 330 M1 2 4
22 | 1446190003 2F—CP 1
23 | BZ12030 ALk 8.8 M12X30 4
24 | WSA12 NEYPHR 337 M1 2 4
25 | NZ12 Fvh 8 2¥=2 M12 4

-3-




TSW2000 HAEREIR—55w/N

ARTIL—LA

ETAR

14126
065-0055-1015

AR E O & B W A W j[EE fid
26 | 144620000M AT 2
27 | BSZ10025 affEFRLE 7T M10X25 8
28 | WSA10 NEAYFHR 337 M10 8
29 | NSZ10 oA Fy k8 22 M10 8
30 | 144764000M A F— 2
31 | 1447650000 TLFL—k 2
32 | 144766000M ZL—h 2
33 [ BSZ08025 afjERNLE 7T M8X25 8
34 | WSAO8 NEYPHx 39T MS 8
35 | NSZ08 afFZFyh 8 22 MS 4
36 | 067426100M AT/ 2
37 | BZ12030 ALE 8.8 M12X30 2
38 | WRAL2 EI7HHR M1 2 2
39 | NNF12 7504 arFy Rk M1 2 2
40 | 0008600000 DAE X —LTL— | 1
41 | 1449680000 FoYL sy NUTY AT 2T A 1
42 | 0889780000 F~L; 500—540r pm 1
43 | 1061700000 SYLV AL al T 1
44 | 1064980000 SAYL A4 ay 84 1




TSW2000 HAEREIR—55 v/

AN

065-0055-1016

AR E O & B <R (EEAS fid
1 1446230000 Ry TZL—Ah L 1
2 | 1446220000 ARyXT7L—A ;R 1
3 | BSZ08020 SRS 7T M8X20 40
4 | WSAO8 NEP A 337 M8 40
5 | NSzos af B Fy b 8 22 MS 22
6 | 044097200M Ty ;8 3
7 | 1446240003 ARy/S7L—LCP ; LOF 1
8 | BSZ08020 SRR 7T M8X20 4
9 | WSAOS NEYPHX 397 MS 4
10 | NSzo08 affZFvh 8 22 MS 4
11 | 1446250003 HHR—HKCP 1
12 | BSZ10020 BRIV 7T M10X20 2
13 | WsAl0 NEYPHx 397 M10 2
14 | 1446270003 ARy T7L—A F 1
15 | 1214310000 A= N AV 1
16 | CP08025 +F_Raxy M8X25 5
17 | NSPOS8 aAFBEATY 7y b 4 MS 5
18 | 1446280003 Ry T7L—ALCP ; UF 1
19 | BSZ08020 aFHERLE 7T M8X20 4
20 | WSA08 NEYFHR 337 M8 4
21 | 1446320003 Fyo ;1 2
22 | BSZ08020 aFHERLE 7T M8X20 20
23 | 044097200M Ty ;8 20
24 | WSA08 NEAYFHR 397 MS 20
25 | NSZ08 afBZFyk 8 22 MS 20
26 | 1446310003 K771 —ACP 1




TSW2000 HAEREIR—55 v/

7 A
RiEE| 5 & B - <R &% T
27 | BSZ08020 affEFRLE 7T M8X20 25
28 | BSZ08025 affEFRALE 7T M8X25 3
29 | 044097200M Ty ;8 28
30 | WSAOS NEYPHx 397 MS 28
31 | NSZ08 afBZFyk 8 22 MS 25
32 | 1446380003 K7 CP 1
33 | 1281240000 T vF 1
34 | CP05016 +F_Raxy MbLX16 2
35 | CP05012 +FRaxy MbLEX12 4
36 | NPO5 AV Fy b Mb 2
37 | WS05 NEYPHR 297 M5 6
38 | WRAO5 v IR M5 8
39 | 1446470003 Av/RCP ; RE 1
40 | BSZ08016 affEFRLE 7T M8X16 2
41 | WSAO8 NEAYFHR 337 M8 2
42 | 144648000M AT — 2
43 | BSZ08020 aFHARLE 7T M8X20 4
44 | 044097200M Ty ;8 4
45 | WSA08 NEYPHx 397 MS 4
46 | NSZ08 afBZFyk 8 2va MS 2
47 | 1446490003 ARy U 2
48 | BSZ08016 aBERLE 7T M8X16 8
49 | WSA08 NEYPHx 397 MS 8
50 | NSZ08 affFZFy k8 232 MS 8
51 | 1446500003 Ay, RE 2 2
52 | BSZ08020 aFAERVE 7T M8X20 8
53 | 044097200M Ty ;8 8
54 | WSAO8 NP A 337 M8 8
55 | NSZ08 afZFyh 8 2v=2 MS 8
56 | 1446510003 Ryt LE 1
57 | 1446520003 Av/8; RF 1
58 | BSZ08020 SaBHARILE 7T M8X20 8
59 | 044097200M Ty ;8 4
60 | WSAOS NEFHFX 32U M8 8
61 | NSZ08 aBBZFyh 8 2va2 MS 8
62 | 1446460000 ZAZ N 3
63 | BSZ08020 SRV E 7T M8X20 30
64 | WSAO8 NEAYFHR 337 M8 30
65 | NSZ08 afBZFyh 8 2va2 MS 30
66 | 144653000M PR — k 2
67 | BSZ08020 aFHERLE 7T M8X20 4
68 | WSAOS NEYPH X 34 M8 4
69 | NSZ08 afBZFy k8 22 MS 4
70 | 044097200M Ty ;8 4
71 | 139112000M AN 1
72 | BSZ08020 affEFRALE 7T M8X20 2
73 | WSAOS NEYPHx 347 MS 2
74 | 071615200M R— A 1
75 | WRALO eI HRr M10 1
76 | PC032016 UL 3. 2X16 1
77 | 1064190000 TV, A4 ay 38 1

-6 -




TSW2000 HAEREIR—55 /N
PICS Ik

14128
065-0055-1017

AR E O & B W A W (EEAS fid

1 | JLA100ASY NI—Ya4>F LA—100 1

2 1445890000 PICY¥¥7 b 1

3 | 0008240000 PICHh/N—; 2 1

4 | 0000963000 PIC¥yv~7/:35 1

5 1441770004 777> hCP 1

6 | J6007LLU R—=nN_T7TV7 6007LLU 2

7 | DHC062 CHHX AT TF 62 2

8 | 076720200M HT— 1

9 | 144590000M HZ—;35. 5X217. 5 1

10 | PS080055 AFY LT 8X55 1

11 | 1368530004 Y —ARL RARLE 2 1

12 | 1445920004 D VI N 1 S | 1

13 | 70B-3515 RIA Ay " T vi2 35X39X15 1

14 | 0440284000 ¥ —ARNLk ;M10X55 6 | TH5
15 | NSZ10 afFZFyh 8 2¥a2 M1O 6 I
16 | WSAL0 NEYPHR 337 M10 6 I
17 | TRK08020 6 hAXY 10. 9 ZHKI M8X20 2

18 | NSZ08 affFZFyh 8 2va MS 2

19 | 1445911000 ¥ 7k 1

20 | 1451580000 ~avX— Jzrwsl 10X8X35 2

21 | JASFB207DGB | X7 V> Jz2=v K ASFB207DGB 2

22 | BSZ10035 affEFRLE 7 M10X35 4

23 | NSZ10 affFZFyh 8 2¥a M1O 4

24 | WSA10 NEYPHR 33 M10 4

25 | 044098500M Ty ;10 4




TSW2000 HAEREIR—55 /N

PIC vk
RiEE| 5 & B - <R &% T
26 | 1441780004 HX—CP ; bvF1 1
27 | 1441790004 HX—CP ; bEvF2 1
28 | 1441800004 HX—CP ; bvF3 1
29 | BSZ08020 affEFRLE 7T M8X20 6
30 | WSAOS NEYPHx 397 MS 6
31 | NSZ08 afyZFyh 8 2va2 MS 2
32 | 044097200M Ty ;8 4
33 | 067139100M F g N 2
34 | CP06016 +F_Raxy M6 X1 6 6
35 | NP06 ATV TFy h M6 6
36 | 0006900000 =x%U ;M8X14 2
37 | 079659100M P33 2
38 | 1443010004 Ry F_R—ZCP 1
39 | 144304000M 77y~ R 1
40 | BZ12040 ALk 8.8 M12X40 3
41 | WSA12 NEYPHR 337 M1 2 3
42 | NZ12 Fvh 8 2¥=2 M12 3
43 | BSZ10030 aBHERLE 7 M10X30 4
44 | BSZ10035 afHERLE 7 M10X35 2
45 | 044098500M Jvir ;10 6
46 | WSAL0 NEYPHx 397 M10 6
47 | NSZ10 afBZFyk 8 2¥=2 MI10 6
48 | 1447270004 A7alry b ; 40X45T 1
49 | KFC10080250 | ~f =2y ¥ — Uz~ 10X8X25 1
50 | 1432330004 A7l hCP ; 40X13T 1
51 | 1432340004 U CP 1
52 | J6006LLU R—=N_XTVU7 6006LLU 2
53 | 081268000M HT—; =R A —I 1
54 | DHC055 CH¥ AU TF 55 2
55 | DCO30 CHEZKIAD T7 30 1
56 | LA40054A n—7Fxz—2 40X54L A72VX71 1 | @ 64,65ff
57 | 081267000M Foau—5CP 1
58 | 144493000M HT— 1
59 | BZ12075 ALk 8.8 M12X75 1
60 | 042783600M Tyiv ;12 1
61 | 065482200M Ty 12 1
62 | WSA12 NREYPHR 337 M1 2 1
63 | NZ12 Fvh 8 2¥=2 M12 1
64 | AAO40 0—5F—2VEF 40 1
65 | AD040 7y bV 40 2




TSW2000 #EEiEA—55w/1
FYRvIR

FHES| B 5 & 5 L I <R i) (EEAS T
1 | 1444150003 YRy 7 A 1
2 | 1444160003 Xv v 7CP 1
3 | BSZ08020 SaBFHRNLE T M8X20 6
4 | WSAO8 NREYAF 337 M8 6
5 | 0602230000 DA -
6 | 0445830000 FayEfTA; 10X0. 2 -
7 | BSZ10025 aFZRLE 7T M10X25 3
8 | WSAL0 NREPHFX 327 M10 3
9 | 044098500M Jv¥% ;10 3
10 | 0591333000 Fexv I TT77; AS 1
11 | 2082-04 0y 7777 PT1,/4 1
12 | 0852491003 VaAr b 1
13 | PS060050 AFYLTEY 6X50 1
14 | 129108000M IF 1
15 | KFC10080350 | ~Af 2 oF%— Uzavu~/yL 10X8X35 1
16 | 0952700000 T 7k 1
17 | 1444190000 T 7k 1
18 | 1444200000 X¥v¥ ;13T 1
19 | 0870290000 XY ;46T 1
20 | 0952491000 Xv ;14T 1
21 | 0952500000 X¥v ;18T 1
22 | 087035100M YaA b 2
23 | J6307 AR—=N_TV27 6307 1
24 | J6207 R—=N_TV7 6207 2
25 | J6207LLU R—=A_7TV 27 6207LLU 1

-9.-




TSW2000 #EEiEA—55w/1
FYRvIR

AR E O & B W a4 i (EEAS fid
26 | J6007 R=N_XTY 7 6007 1
27 | J6206 R—=nN_XTV 7 6206 1
28 | D357212 F AN —) D3EXT2X12 3
29 | D356210 F AN —)L D35X62X10 1
30 | KRCA6210 V=NFx v/ U RCA62—10 1
31 | DHCO72 CHENAT TF 72 3
32 | DHC062 CHHX AT TF 62 2
33 | DC0O35 CHEZKMAD Y7 35 1
34 | 0851750000 HT7—;40. 5X16 1
35 | 1444210000 HZ7—;30. 5X69 1
36 | 0777671000 HT— XxhvI A 1
37 | 1444220000 DN 1
38 | 1444230000 DN 1
39 | 0445851000 FatAh; 35X0. -
40 | 0445862000 FatAh; 35X0. -
41 | 0771913004 RT VTG T 1
42 | 0772360000 X7V T 1
43 | BSZ08025 afHEFRNVE 7T M8X25 3
44 | WSAO8 NEAYFHR 337 M8 3
45 | NSZ08 affFZFyh 8 2va MS 3

-10 -




TSW2000 #iEFRA—55v/3
ANl v

AN
AP S
J Q%

AR E O & B W A W (EEAS fid
1 | 0995541003 FF v biRAL; 72T 1
2 | 0848130000 )T (=TT ) 2
3 | 084814100M AT T 2
4 | 121533100M 77— 2
5 | 121535200M ST HA RCP 1
6 | 121543100M ZFL—k 1
7 | 084823000M AT T 1
8 | BSZ08025 afjEFRNLE 7T M8X25 2
9 | NSZ08 affZFvh 8 22 MS 3
10 | 121537000M ELCP 1
11 | 121536000M BT — 1
12 | BZ12075 ALk 8.8 M12X75 1
13 | WSA12 NEYPHx 397 M1 2 1
14 | NzZ12 Fvh 8 232 M12 1
15 | 144430000M 7y KCP 1
16 | 70B-3012 RIA Ay T w2 30X34X12 2
17 | ONC6 J)—A=v7)L C M6 1
18 | 092748300M R 1
19 | ONAG J)—A=v 7L A M6 1
20 | NZ12 Fvhk 8 2v=2 M12 1
21 | DEO15 EH% AU 15 1
22 | 0848203003 VAV AN 1
23 | BSZ10020 affEFRALE 7T M10X20 1
24 | WSA10 NEYPHR 33 M10 1
25 | 061737000M Ty 11X45X3. 2 1

-11 -




TSW2000 HAEREIR—55w/N

AN E= V24
AR B O & B W& A {(EES fid
26 | 0927490003 U 1
27 | J6206LLU R—=nN_TVU7 6206LLU 1
28 | DHC062 CHE AT TF 62 2
29 | BZ12035 ALk 8.8 M12X35 2
30 | WSA12 NEYPHx 397 M1 2 2
31 | NZ12 Fvh 8 232 M12 2
32 | DC0O30 CHERAD 27 30 1
33 | KFB10080500 | ~f 2w ¥ — HH~</L 10X8X50 1
34 | PC063056 JUEY 6. 3X56 1
35 | 144433000M 7% ~CP 1
36 | BXI12055 ALk 10. 9 ¥ M12X55 1
37 | WRA12 IR M1 2 3
38 | WSA12 NEYPHR 337 M1 2 1
39 | NZ12 Fvh 8 2¥=2 M12 1
40 | NNF12 7504 arFy N M1 2 1
41 | CP08016 +F_Raxy M8 X 16 1
42 | WRAOS 7P R M8 1
43 | NSZ08 afyZFyh 8 2va M8 1
44 | 121541000M LR—CP 1
45 | NNF10 7504 uarFyh M10 1
46 | 1444361000 HA K 1
47 | BSPZ08020 aHFSWYFHRLE 7 M8X20 2
48 | 044097200M Ty ;8 2
49 | 087093000M 2Z~_—H%:35. 7X15 1
50 | 084916000M 7Tk 1
51 | BSZ08020 aFARLE 7T M8X20 1
52 | NSP08 afHATY Ty R 4 M8 1
53 | 144437000M T 1
54 | BSZ10025 afjEARE 7T M10X25 2
55 | WSAL0 NEAYPHR 337 M10 2
56 | 044098500M Ty v ;10 2
57 | ONB6 JV)—A=v7)L B M6 2

-12 -




TSW2000 iR~ —55w/8
AURT - TEYFYINFI—Y

EITHRE S0 @ .
% \:
;

AR E O & B H i 4 W (EEAS fid
1 121544000M a7 V¥ 7 b 1
2 | CAP028616 Fyv7 28. 6X1. 6 2
3 144424000M HT7—;35. 7X63 2
4 | 0803454004 27vs >y~ 6T 2
5 | ONB6 JYJ—A=vy 7L B M6 2
6 | 060036100M ALK Av® S45C Hoxv 2
7 | 026970100M vy ;14 2
8 | 068367000M ZL—h 2
9 | 057045200M ATVT  $22X88 2
10 | 144425000M o< 2
11 | 1444260000 = AV A 1
12 | KFC10080500 | ~f =2 ¥%— Uz~ 10X8X50 2
13 | 0855871004 27vas vk, 6T 2
14 | TRK08012 6 hAXY 10. 9 Z4HAI M8X12 4
15 | 1380830003 A AR 2
16 | JuC207D1 o=y hIURFTYLZ UC207D1 2
17 | ONB6 J)—A=v7)L B M6 2
18 | BSZ10025 affEFRLE 7T M10X25 4
19 | WSALO NEYFHR 337 M10 4
20 | 144427000M HT—;35. 7X42 2
21 | 144428000M a7 NR—=CP ;1220 14
22 | 084839100M THYF¥INFz—2 ;5000 136

-13 -




TSW2000 #EEA—55w/1

Z*—7

14132
065-0055-1018

3547,48

29 15

“f%S;”

AR E O & B W A W (EEAS T =
1 1444820003 F—H7L—2nh; L 1
2 | 1444830003 F—HT71L—2h R 1
3 | 1444840003 E—X%71L—ACP : L 1
4 | 1444880003 E—%71L—ACP : R 1
5 | BSZ08020 SaFHERILE 7T M8X20 16
6 | WSAO8 NEPHFX 337 MS 16
7 | Nszo8 affZFyh 8 22 MS 10
8 | 1444911000 Ry S R— ;1 1
9 | 1444920003 R XHN—CP ; 2
10 | 055474000M HIFRLE 8. 8 M8X20 14
11 | 044097200M Ty ;8 10
12 | WsA08 NEYPHx 397 MS 14
13 | NSzo8 afBZFy k8 22 MS 14
14 | JUCFL206DGB | X7 Y v Z/=2=vr UCFL206DGB 5
15 | BZ14040 ARLE 8.8 M14X40 10
16 | WSAl4 NEYPHR 33y M1 4 10
17 | NZ14 Fvh 8 2v=2 Ml4 10
18 | 1444380004 F—HCP 1
19 | 1444790004 v—Zi %7 FCP 1
20 | 1444810004 B = 2
21 | BSZ10025 affEFRLE 7T M10X25 6
22 | WSA10 NEYPHR 33 M10 6
23 | NSZ10 afyZFyh 8 2v2 M10 6
24 | 030619101M Ty 17X6 5
25 | WSA16 NEAYFHR 337 M16 5

-14 -




TSW2000 #EEA—55w/1

Z*—7

14132
065-0055-1018

35,47,48 7@7&\ b
G

29 15

AR E O & B W A W (EEAS T =
26 | NZ16 vk 8 2v= M16 5
27 | 084845000M HT7—;35. 7X48 1
28 | 0799220004 A7vs > h; 15T 2
29 | 0799210004 A7vs >~ 23T 1
30 | 1199920004 A27valryh; 50—-40T 1
31 | 094649000M #5—:30. 5Xx34. 5 1
32 | 0967561000 2 ;30. 5X0. 6 -
33 | 073444000M N -
34 | 0599861000 N -
35 | LA50070 n—5Fx-—2 50X70L 1
36 | LA50108 H—5Frx—2 50X108L 1
37 | 081267000M Fovaru—5CP 2
38 | 082660000M T — 2
39 | 042783600M Ty ;12 2
40 | 065482200M Ty ;12 2
41 | BZ12060 ALk 8.8 M12X60 2
42 | WSA12 NEYPHR 337 M1 2 2
43 | NZ12 Fvh 8 2¥=2 M12 2
44 | 144517000M Foary7Iry b 1
45 | BSZ08020 aFHERLE 7T M8X20 2
46 | WSAOS NEYFHR 337 M8 2
47 | AAO50 H—5Fz—2VYEF 50 2
48 | AD050 7y bV ”7 50 2

-15 -



TSW2000 HAErEIR—55 v/

FauFxaHasnRy

%14 o
gl
}ﬁ%

14133

065-0055-1019

AR E O & B W A W (EEAS fid
1 144520000M ZL—h 1
2 | 000452000M B FRLE 8. 8 M12X30 1
3 | WSAI2 NEYFHR 337 M1 2 5
4 | NZ12 Fvh 8 232 M12 5
5 | 1445210000 KFA4 7@ —5CP 1
6 | 0855840003 b % 2
7 | JCS206LLU 2=y h8IXTY 7 CS206LLU 2
8 | ONB6 7Y —=ZA=v7/L B M6 2
9 | BSZ10025 affEZRLE 7T M10X25 6
10 | WSA10 NREP A 327 M10 6
11 | 081268000M HT— =R A —)b 1
12 | 0811080004 27vary b, 14T 1
13 | 0963520004 27vasry b, 14T 1
14 | LAW50014 n—5Frx—>r 50—2X14L 1
15 | 0975860004 HT— 1
16 | 1445300004 n—7CP ;74 Knv 1
17 | J6206LLU R—=N_T7TY7 6206LLU 2
18 | 1445320002 T 7k 1
19 | BXI12150 ALE 10. 9 ¥ M12X150 2
20 | NZ12 Fvh 8 2¥=2 M12 4
21 | 1445330004 o—/L 27 L—s{CP 1
22 | NSZ08 afyZFyh 8 2va MS 4
23 | 1445360000 aLR7YL R F 1
24 | 144537000M T L 1
25 | 144538000M T R 1

-16 -




TSW2000 HAErEIR—55 v/

FauFxaHasnRy

%14 o
gl
}ﬁ%

14133

065-0055-1019

AR E O & B W A W (EEAS fid
26 | BSZ08030 aFHABRNE 7T M8X30 8
27 | WSAO8 NEPH X 33T M8 8
28 | 044097200M T % ;8 8
29 | NSZ08 afAxFy k8 22 MS 6
30 | 1445390000 TAFL—h;1420X50X3 2
31 | 144540000M ZFL—k 2
32 | BSZ08020 SR E 7T M8X20 14
33 [ WSA08 NREXPAFX 337 M8 14
34 | NSZ08 affZFyk 8 22 MS 14
35 | 1445410004 F—7/LCP 3
36 | BSZ08030 afjEFRLE 7T M8X30 12
37 | WSAOS NEYPHx 397 MS 12
38 | 044097200M Ty ;8 12
39 | 1445440004 777> hCP; L 1
40 | 1445480004 7777 hCP ; R 1
41 | BSZ10035 affEFRNLE 7 M10X35 6
42 | WSAL0 NEYFHR 33 M10 6
43 | 044098500M Jv¥ ;10 6
44 | 1445510004 gL R_R7HR—CP ; LO 1
45 | BZ06025 ALk 8.8 M6X25 6
46 | WS06 NEAYFHR 297 M6 6
47 | NZ06 JFvh 8 2¥=2 M6 6
48 | 144586000M N RLCP 2
49 | 055474000M B FRLE 8. 8 M8X20 4
50 | 044097200M Ty ;8 4

-17 -




TSW2000 HAErEIR—55 v/

= WL =iy D20\ 4
RiEE| 5 & B - <R &% T
51 | WSAOS NEYPHx 397 MS 4
52 | NSZ08 afBZFyh 8 22 MS 4
53 | 8027440004 O RT7HR—=CP ;U 1
54 | BSZ08025 aFARLE 7T M8X25 6
55 | 044097200M Uiy 8 6
56 | WSAO8 NEYFHR 3947 M8 6
57 | NSZ08 afBZFyh 8 2va2 MS 6
58 | 802746000M HA4 FCP ; L 1
59 | 802750000M HA RKCP ; R 1
60 | BSZ08025 aBfERLE 7T M8X25 4
61 | 044097200M Ty ;8 4
62 | WSAOS NAYFHR 337 M8 4
63 | 144562000M 7w Z7CP; L 1
64 | 144565000M 7vZ7CP:R 1
65 | NNF12 750 4 arFy b M1 2 2
66 | 082675000M ATV T 2
67 | 1445660004 ZFL—h 1
68 | BSZ08020 aHEZRLE 7T M8X20 4
69 | 044097200M Uiy 8 4
70 | WSAOS NEYPHx 397 M8 4
71 | 1445130004 A7 L—/CP ; Fa %oy 1
72 | BSZ08025 aHAZRLE 7T M8X25 4
73 | 044097200M Uiy 8 4
74 | WSAOS NEYPH X 34 MS 4
75 | NSZ08 afBZFyh 8 232 MS 4
76 | 1445180000 IL7L—F; 350X30X6 2
77 | 144519000M IR— 2
78 | BSZ08025 S HHRLE 7T M8X25 6
79 | WSAO8 NEP A 337 M8 6
80 | NSZ08 afiZFwk 8 2va MS 6
81 | DHC062 CHEZKMAT TF 62 2
82 | 802729000M HA4 FCP ; R 1
83 | 802730000M 74 RCP ; L 1
84 | RBT12030 REZB 10. 9 M12X30 4

-18 -




TSW2000 HAErEIR—55 v/

A—3:1

35

34
220 0%
T ANT38

065-0055-1020

20

AR E O & B W a4 i (EEAS T =
1 1441850004 n—JCP;45L 1
2 1441890004 n1—7CP;45L—Lo 1
3 ONA6 J)—A=v7)L A M6 1
4 | 8024730004 FLe—7CP ;35S 1
5 1326100004 n—JCP ;35S 7
6 | 0590442006 TAARI T vy 8
7 | NN16 JTArF b M16 8
8 | WSA20 NREXPHFX 327 M20 2
9 | NZ20 Fwvhk 8 2= M20 2
10 | 128113000M Tod ¥ ; 21X65 2
11 | 1018360004 27 L—sXCP 1
12 | BSZ10025 affFZFRNLE 7T M10X25 4
13 | WsAl0 NEYPHx 397 M10 4
14 | 044098500M Jvi¥ ;10 4
15 | 1441820004 NTOUT L 1
16 | 1301841004 NI R 1
17 | ONC6 J)—A=v7)L C M6 3
18 | ONAG JN)—A=v 7L A M6 1
19 | JCS309LLUJ o=y hIURFTYLZ CS309LLU 1
20 | 144194000M 77YVCP ;45 3
21 | 1441830004 NG 45 L 1
22 | JUC309D1 o=y h3IURTYLZ UC309D1 1
23 | ONA6 J)—A=v7)L A M6 1
24 | 1441840004 NPT 45R 1
25 | JUC207D1 o=y hIURTY LY UC207D1 1

-19 -




TSW2000 HAErEIR—55 v/

A—3:1
RiEE| 5 & B - <R &% T

26 | ONAG TV —ZA=v 7L A M6 1
27 | 130209000M NAT7F5Y:;PF208 16
28 | 130210000M 75 CP ;1 8
29 | JCS307DDUJ o=y h3a3UXTYL 2/ CS307DDU 8
30 | BZ12030 ALKk 8.8 M12X30 32
31 | BZ12040 ALk 8.8 M12X40 15
32 | WSA12 NEYFHR 337 M1 2 47
33 | 130211000M 77VCP ;2 9
34 | JCS207LLUJ o=y h3aURFTYLY CS207LLU 9
35 | DCO35 CHZ AU Y7 35 9
36 | BSZ10020 affEFRALE 7T M10X20 24
37 | BSZ10035 affEFRNLE 7 M10X35 3
38 | WSA10 NEYFHR 337 M10 27
39 | 1441950004 77.YVCP; L 1
40 | 1441990004 77YVCP ;R 1
41 | BSZ10020 affEFRALE 7T M10X20 12
42 | WSAL0 NEYFHR 337 M10 12
43 | 1442050004 A7a,yh; 80X30T 1
44 | 1442060004 A7ary b ; 60X23T 2
45 | 1302730004 A7y h; 60—23T 8
46 | 130450000M > KCP 1
47 | ONB6 7Y —ZA=v7/)L B M6 1
48 | 099710000M HT— 3
49 | 0473370006 A7V T A 1
50 [ NZ12 Fvh 8 2¥=2 M12 2
51 | DCO35 CHHNAD V27 35 2
52 | 0986740004 27a,>vh CP;RS60X13T 1
53 | 060807100M T 1
54 | 1302740004 A7y h; 60—17T 1
55 | J6007LLUJ R—=n_X7Y> 27 6007LLU 2
56 | DHC062 CHZRNAT T+ 62 1
57 | DC035 CH# K AU Y7 35 1
58 | 130447000M Fovary7T—ALCP ; 60A 1
59 | 065487000M A1 3835X1. 2

60 | 0988800000 vAh;35. 5X0. 6 -
61 | 0770931000 A 1X55%X45. 5 -
62 | 044214301M Tyl v 25, 5X1. 0 8
63 | LA60213 n—5Frx—2 60X213L 1
64 | AAO6O —5Fz—2VYETF 60 1
65 | AD060 7y b2 60 1

-20 -




TSW2000 HAErEIR—55 v/
A—5:2

14152
0656-0055-1021

AR E O & B W A W (EEAS fid
1 1441850004 n—JCP;45L 1
2 1441890004 n1—7CP;45L—Lo 1
3 ONA6 J)—A=v7)L A M6 1
4 | 1326120004 7—7CP; 35L 1
5 | 1326100004 n—JCP ;35S 3
6 | 0590442006 TAARI T vy 4
7 | NN16 JTArF b M16 4
8 | WSA20 NREXPHFX 327 M20 2
9 | NZ20 Fwvhk 8 2= M20 2
10 | 128113000M Tod ¥ ; 21X65 2
11 | JCS309LLUJ o=y hIUXTYLZ CS309LLU 1
12 | 144194000M 75.YCP ;45 3
13 | 1441830004 NI A5 L 2
14 | JUC309D1 2=y h3aUXTY 7 UC309D1 1
15 | ONA6 TJV—A=v 7L A M6 1
16 | 1441840004 NPT 45R 1
17 | Juc207D1 o=y hIURFTYLZ UC207D1 1
18 | ONAG JN)—A=v 7L A M6 1
19 | 130209000M NRAT7Z7Y; PF208 8
20 | 130210000M 77VCP ;1 4
21 | JCS307DDUJ o=y h3a3URFTYLZ CS307DDU 4
22 | BZ12030 ALk 8.8 M12X30 16
23 | BZ12040 ALk 8.8 M12X40 15
24 | WSA12 NEYPHR 337 M1 2 31
25 | 130211000M 77V CP ;2 5

-21 -




TSW2000 HAErEIR—55 v/

A—5:2
RiEE| 5 & B W s A PR &% T
26 | JCS207LLUJ o=y h3aURFTYLY CS207LLU 5
27 | DCO35 ChHZ AU 27 35 5
28 | BSZ10020 affFZFRLVE 7T M10X20 15
29 | WSAL0 NEYPHx 397 M10 15
30 | 1441950004 75.YCP ;L 1
31 | 1441990004 77YVCP ;R 1
32 | BSZ10020 affEFRALE 7T M10X20 12
33 | WSA10 NEYFHR 337 M10 12
34 | 8010130000 Tova v 1
35 | 030619101M Tov¥y; 17X6 1
36 | WSA16 NEYFHR 337 M16 1
37 | NZ16 Fvhk 8 232 M16 1
38 | 1442050004 A7y h; 80X30T 1
39 | 1442060004 A7y h; 60X23T 2
40 | 1302730004 A7vyh; 60—23T 4
41 | 1018860004 A7y FCP ; 80X12T 1
42 | ONB6 J)—A=v7)L B M6 1
43 | 099710000M HT— 3
44 | 0473370006 27V T A 1
45 | NZ12 Fvh 8 232 MI12 2
46 | DCO30 CHE AT 27 30 1
47 | 130540000M Fovary7—ALCP ;608 1
48 | DCO25 CHE AU 27 25 2
49 | 0986740004 27uavk CP;RS60X13T 1
50 | 060807100M Ty 1
51 | 135247000M ny RCP; 265 1
52 | 073444000M N -
53 | 0704200000 N -
54 | 065487000M A :35X1. 2 -
55 | 0988800000 A ;35. 5X0. 6 -
56 | 0770931000 A ; 1X55X45. 5 -
57 | 044214301M Jv¥%;25. 5X1. 0 9
58 | LAS80138 n—5F=x—2 S80X138L 1
59 | LA60170 n—SF=x—2 60X170L 1
60 | 1447430000 Faak—ACP ;300 1
61 | EWK864106 SEYX75 M6 2
62 | ONB6 J)—A=v7)L B M6 1
63 | AASO80 n—7Fxz—2YXT S80 1
64 | AAO6O 0—5Fz—2VYEXTF 60 1
65 | AD060 F7Ey b7 60 1

-22 -




TSW2000 HAErEIR—55 v/

A—7;3
e
| W

38 50
(@@édm 49
M 5 < @/
Ca,
©
262728{:/@
“EE
065-0055-1022
AR E O & B W A W (EEAS fid
1 1442010002 ¥ 7k 1
2 0771913004 X7V TN T 1
3 | JCS308LLUJ a=v haYRTYLZ CS308LLU 1
4 | BSZ08030 AR 7T M8X30 3
5 | WsA08 NEYPHx 397 MS 3
6 | NSZ08 affZFvh 8 22 MS 3
7 | JPF208G NA 752y <)L PF208 2
8 | JCS208LLUJ o=y h3a3UXTYLZ CS208LLU 1
9 | BZ12035 ALk 8.8 M12X35 4
10 | WSA12 NREPF A 337 M1 2 4
11 | NZ12 Fvh 8 232 M12 4
12 | 144202000M HT7—;40. 5X36 1
13 | 144203000M AN 1
14 | BSZ10020 aBERLE 7T M10X20 6
15 | WSA10 NEYPHx 397 M10 6
16 | 070517100M HT7—;40. 5X14 1
17 | 1352420004 T —RL hRAZCP 1
18 | 1352410004 27wl h; 80—10T 1
19 | 1018790000 Tyva 2
20 | 0440284000 Ty—ARNLE;M10X55 5
21 | WSA10 NEYFHR 337 M10 5
22 | NSZ10 afyZFyh 8 2¥=2 M10 5
23 | DCO35 CHZ AU Y7 35 1
24 | ONA6 J)—A=v7)L A M6 1
25 | 1270490004 A7y h; 80X16T 1

-23 -




TSW2000 HAErEIR—55 v/

A—Z;3
RiEE| 5 & B - <R &% T
26 | 8010130000 Foa v 2
27 | 030619101M Ty ; 17X6 2
28 | WSA16 NEYPHx 397 M16 2
29 | NZ16 Fvh 8 232 M16 2
30 | 8010130000 Foa v 1
31 | 801014000M HT—;3 617X54. 5 1
32 | BZ16090 ALk 8.8 M16X90 1
33 | BZ16040 AL 8.8 M16X40 1
34 | 000761100M Ty v ;16 2
35 | 118532000M ZFL—k 1
36 | WSA16 NEYFHR 337 M16 2
37 | 1442040004 A7y h; 80X13T 1
38 | 1018860004 A7uas >y hCP; 80X12T 3
39 | 130450000M o RCP 2
40 | 135246000M Foyary 7 —ALCP 1
41 | ONB6 J)—A=v7)L B M6 1
42 | 060807100M Ty 1
43 | PC050036 JUEL 5X36 1
44 | 025266000M Fay AR 1
45 | 099710000M HT— 2
46 | 0473370006 27V T A 1
47 | NZ12 Fvh 8 232 MI12 2
48 | DC035 ChH AU 27 35 1
49 | DCO30 CHHZ AT Y7 30 2
50 | 073444000M DN -
51 | 0704200000 DN -
52 | 065487000M A 85X1. 2 -
53 | 0988800000 A 35. 5X0. 6 -
54 | 0573680000 N -
55 | LAS80094 n—JF=—2 S80X94L 1
56 | AASO80 n—7F=z—2VYX5T S80 1

-4 -




TSW2000 #iEFRA—55v/3
IL—LF—b 8%

065-0055-1023

AR E O & B W A W (EEAS fid
1 144838000M 7L —hkCP 4
2 SM10025 —%Z7axy M10X25 8
3 | WSALO NEAYFHR 337 M10 8
4 | NSZ10 affZFo k8 22 M1O 8
5 | 144941000M 7L —hKCP 3
6 | BSZ08020 SaFHERILE 7T M8X20 6
7 | WSA08 NEXHPFHFX 337 MS 6
8 | NSZ08 affZFv k8 22 MS 6
9 | 1448650000 YA A~V T A 2
10 | 1448420004 H—5CP;;Tvvayv 2
11 | 1445320002 v 7 b 2
12 | 144844000M 77— ;31X21 4
13 | J6206LLU R—=nN_T7VU7 6206LLU 4
14 | BXI12190 ALk 10. 9 ¥ M12xXx190 4
15 | NzZ12 Fvh 8 232 M12 8
16 | 144820000M A7 L—/XCP ; u—% 2
17 | BSZ08030 afHERLE 7T M8X30 8
18 | 044097200M Ty ;8 8
19 | WSAO8 NEAYFHR 337 M8 8
20 | 144850000M AT L= A AL b 2
21 | BSZ08020 aFHERLE 7T M8X20 8
22 | 044097200M Ty ;8 8
23 | WSA08 NEAYFHR 397 MS 8
24 | 1448510000 TATL—F; 995X40X6 2
25 | 144841000M ZL—h 2

-25-




TSW2000 #iEFRA—55v/3
IL—LF—b 8%

RiEE| 5 & B - <R &% T
26 | BSZ08025 affEFRALE 7T M8X25 18
27 | WSAO8 NEYPHx 397 MS 18
28 | NSZ08 affBZFyh 8 2va MS 18
29 | 1448451004 27 L—sXCP ; F¥ 8 1
30 | BSZ08025 affEFRNLE 7T M8X25 4
31 | WSA08 NEYFHR 3947 M8 4
32 | 1448481000 TATFL—hF; 995X 55X 3 1
33 | 1448490000 TATL—hF; 975X65X%X3 1
34 | 144841000M ZFL—k 2
35 | CP08025 +F_Raxy M8X25 18
36 | WSA08 NEAYFHR 337 M8 18
37 | DHC062 CHXNAT TF 62 4
38 | 1446620000 ZFL—k 1
39 | BSPZ08016 afHSWYFHRLE 7 M8X16 4
40 | 1446630000 Fy ;L 1
41 | 1446640000 Fy o F R 1
42 | BSPZ08020 afHFSWYFHRLE 7 M8X20 8
43 | 044097200M Ty ;8 4
44 | 1446650000 ZFL—k 1
45 | 144666000M ZFL—k 1
46 | BZ12030 ALk 8.8 M12X30 4
47 | WSA12 NEYPHx 397 M1 2 4
48 | NZ12 Fvh 8 22 M12 4
49 | 1446670000 ZFL—h 1
50 | BSZ08020 affFZFNE 7T M8X20 4
51 | NSP08 aAfHEATIVTF v h 4 MS 4
52 | 1446680000 Fy¥F); L 1
53 | 1446690000 F ¥ R 1
54 | BSZ08020 affEFRALE 7T M8X20 4
55 | 044097200M Tvi¥ ;8 4
56 | NSP0S aBBEATY )y b 4 MS 4
57 | 1446700000 ILFL—K; LO 1
58 | 144671000M 7L —h 1
59 | BSZ08020 aBFHEBRNE 7T M8X20 5
60 | NSPOS APFEATY 7y b 4 MS 5
61 | 1446720000 T L 1
62 | 1446730000 77 R 1
63 | BSZ08020 aFHARLE 7T M8X20 2
64 | 044097200M Toiy ;8 4
65 | NSP0S aAFBEATY Sy b 4 MS 2
66 | 1446740000 ZFL—h 2
67 | 1446750000 TLFL—k 2
68 | BSZ08020 affEFRALE 7T M8X20 8
69 | NSPO8 aAfHEATI TS b 4 M8 8
70 | 1446760004 7L —hRCP; L 1
71 | 1446790004 7L —hRCP; R 1
72 | BSZ08020 affEFRALE 7T M8X20 12
73 | 044097200M Ty ;8 12
74 | WSAOS NEYPHx 397 MS 12
75 | NSP08 aAfEATV TSy b 4 M8 4

-26 -




TSW2000 #EEFER—55w/%
IL—L =k 75

065-0055-1023

FHES| B 5 & 5 L I <R i) (EEAS T
76 | EH1382467591 | =a— K2 .7 ;8. 5—85 5
77 | 1448700004 7y k7L —ACP 1
78 | 1447720004 F—1C 1
79 | 1449710000 TYL Ry 3 1
80 | 1425880000 TV s AL NE Y 1
81 | 1449700000 FYL s Ry hwF AT 1
82 | 1425770000 T Ry M4 1

-7 -




TSW2000 #iiRA—55v/1
AN

14136 |

AR E O & B W A W &% fid
1 144445000M 7—UCP 1
2 144448000M 7—UARACP 1
3 | BSZ08030 aBFHFRNE 7T M8X30 3
4 | WSAO8 NEXPFHFX 337 MS 3
5 | NSZ08 afZFyh 8 2va MS 3
6 | 144450000M Fova s L—CP 1
7 | ONB6 JV—A=y 7L B M6 1
8 1312141000 T2 50X30 1
9 | BSZ08020 affZFNLE 7T M8X20 1
10 [ NSZ08 affFZFvh 8 2va MS 2
11 | 000034100M PRl g 7 — 1
12 | DCO12 CHEZMAD Y7 12 1
13 | 144453000M 77—V ; A—83 1
14 | PS080063 AFYL T 8X6 3 1
15 | BSZ10016 affFZFRLVE 7T M10X16 1
16 | NSZ10 affFZFyh 8 2¥a M1O 1
17 | VLA043 VL LA—43 FLov 1
18 | 144454000M AL R AR R 1
19 | BSZ08016 afHEFRNLE 7T M8X16 2
20 | WSA08 NEYFHR 397 M8 2
21 | 044097200M Ty ;8 2
22 | 1114650000 BEIT— X 1
23 | 132670000M A7V H2., 3X11X95 1
24 | 131080000M T =R 1
25 | DE006 ENZNAT 6 1

-28 -




TSW2000 #iiRA—55v/1
AN

14136 |

FHES| B 5 & 5 L I <R i) &% fid
26 | 055474000M HIFRRILE 8.8 M8X20 2
27 | 044097200M iy 8 2
28 | CP05016 +FRaxY M5X16 3
29 | WS05 NREPHF 237 M5 3
30 | WSAO8 NEYPHxX 397 MS 2
31 | NSZ08 afBZFyhk 8 22 MS 2

-29 -




TSW2000 HAErEIR—55 v/

FYRNNALTA42T 1

065-0055-1024

AR E O & B W A W (EEAS fid
1 1443120004 *v RZL—LACP 1
2 | BSZ08025 afHRLE 7T M8X25 8
3 | 044097200M 7yl 8 16
4 | WSAO8 NREYAF 337 M8 8
5 | NSzos afBZFyk 8 22 MS 8
6 | 1444590000 T —5CP 1
7 | J6010LLU RN—=N_X7V>”7 6010LLU 2
8 | DHCO8O CHEZRAD T7F 80 2
9 | 144414000M ZL—k 1
10 | CM06016 +HTaxY M6X16 2
11 | 144455000M n— 1
12 | J6301LLU _7Yr27 6301LLU 2
13 | DHCO37 CHZKNAD TF 37 2
14 | 1444620002 Y7 b 1
15 | 043065101M TN — BT — 2
16 | WRAL2 IR M1 2 2
17 | PC032016 Uy 3. 2X16 2
18 | 139500000M 7—ALCP ; L 1
19 | 139501000M 7—ALCP ; R 1
20 | 061847000M Tyl 17X1. 6 2
21 | DCO16 CHHZMAD 7 16 2
22 | 134525100M 2y RCP 2
23 | 112083100M 2AFVY T A4, 0X18X85 2
24 | 044098500M Tyl 10 2
25 | NNF10 7504 arFy R M10 2

-30 -




TSW2000 HAErEIR—55 v/

FYRNNALTA42T 1

065-0055-1024

AR E O & B W A W (EEAS fid
26 | 1444630004 T N— 1
27 | 075290100M T ;10 5
28 | WSA10 NEAYFHR 337 M10 5
29 | BSZ10030 SHHERLE 7T M10X30 5
30 | NSZ10 afFZFvh 8 22 M1O 5
31 | BSZ10035 afERALE 7 M10X35 5
32 | 132655000M NG T 2
33 [ 0934880000 T2 16xX25 2
34 | ONB6 JY—ZA=v7)L B M6 2
35 | 055474000M BT XHRLE 8. 8 M8X20 4
36 | NSP08 aBHATY T Fy s 4 M8 4
37 | 079160000M S 2
38 | 0883040000 YA 16. 5X22Xx1. 0 -
39 | 1443810004 FA4 7T —LCP 1
40 | 1444640004 FA 7 1
41 | 144465000M FAT7TL— |k 1
42| BJ08030 $T7%¥y>v 7B 10. 9 M8X30 15
43 | WSAO8 NEAYFHR 337 M8 15
44 | NSZ08 afyZFyh 8 2va2 MS 15
45 | 122643000M 7 =1 3
46 | 130958000M 7 =1 3
47 | 144466000M ¥ 7k 1
48 | 144467000M ¥ 7k 1
49 | 061847000M Jviy; 17X1. 6 18
50 | PC040025 JUEL 4X25 18

-31 -




TSW2000 HHiRA—55w/1
RYSNA T4V 1

065-0055-1024
AR E O & B W A W (EEAS T =
51 | 122645000M 2FVZ  H2., 9X20X95. 5 4
52 | 144475000M 1—7CP; 2 1
53 | ONA6 JN)—A=v7)L A M6 2
54 | 1297910000 /Ava 2
55 | CP06016 +F_"axy M6X16 4
56 | NNF06 774y N M6 4
57 | 1444770004 HA RFL—KCP 1
58 | BSZ08020 affEFRLE 7T M8X20 4
59 | 044097200M Ty ; 8 4
60 | WSAOS NEPF A 337 M8 4
61 | EH1382467591 | =— K7 <7 ;8. 5—85 5

-32 -



TSW2000 HAErEIR—55 v/

FYRNNALT42T 2

065-0055-1025
AR E O & B W a4 i (EEAS T =
1 139509000M 7—ALCP 1
2 | PS060032W ATV Ty XT7NEFY 6X32 1
3 | PS035032W A7)y A7N3ay 3. 5X32 1
4 | 1029090000 F=2—7:20X100 1
5 1349400000 AT T 1
6 | 134941000M ZvF 1
7 | PS040025 AFYTEY 4X25 1
8 | ONB6 TV —=A=v7)L B M6 1
9 | PC040025 Yy 4X25 1
10 | 144468000M 7y KCP 1
11 | PC040025 Yy 4X25 1
12 | 061847000M Ty 17X1. 6 1
13 | 093754000M TA—J TR ; 12X48 1
14 | 093755000M Er;12X48 1
15 | NzZ12 Fvh 8 232 M12 1
16 | 065482200M Ty ;12 1
17 | 144470000M yo7CP 1
18 | ONB6 J)—A=v7)L B M6 2
19 | PC050036 7Yy 5X36 1
20 | 062908100M Ty ;20 1
21 | 144472000M ZFL—k 1
22 | 043065101M T = N T— 2
23 | BZ12035 ALk 8.8 M12X35 1
24 | WRA12 IR M1 2 2
25 | WSA12 NEYPHR 337 M1 2 2

-33 .-




TSW2000 HHEiRA—55w/1
FYSNAU T4V 2

14154
065-0055-1025

FHES| B 5 & 5 L I <R i) (EEAS T
26 | NZ12 Fvh 8 2v= M1 2 2
27 | 122668000M | N LS 1
28 | 122685000M A kR 1
29 | WRAOS E7Ar M8 1
30 | BSZ08020 aBFERNLE 7T M8X20 2
31 | RBT08025 AREZB 10. 9 M8X25 1
32 | NSPo8 SABFHATY Ty s 4 MS 3
33 | BSZ08030 aHARLE 7T M8X30 1
34 | NSZ08 affZFyk 8 22 MS 1
35 | 1395100004 ¥ 7 hCP 1
36 | J6904LLU RN—=N_T7TV7 6904LLU 1
37 | AWO4 X7V 7Ty AWO 4 1
38 | ANO4 X7V b ANO 4 1
39 | JHF2520 Iy yxA77yF HF2520 2
40 | J69O5LLU R—=N_T7VU”7 6905LLU 1
41 | DCO25 CHEZ AU Y27 25 1
42 | 144473000M 7707 —ALCP 1
43 | J6805LLU R—N_7TV27 6805LLU 2
44 | 134619000M Jyiv 25, 5X1. 0 1
45 | 130923000M 2y RKCP 1
46 | BL8D Yo ZAR— BLHEZ AZX M8 1
47 | NSZ08 aBgFyh 8 2¥= MS 2
48 | 000085200M | _X—HEL; 8X1. 6 1

-34 -




TSW2000 R —55w/\
Ry IL—F

065-0055-1026

AR E O & B W A W j[EE fid
1 1443850004 Ry 7 ACP 1
2 | BSZ08025 afHRLE 7T M8X25 8
3 | 044097200M T % ;8 12
4 | WSAO8 NREYAF 337 M8 8
5 | NSzos afFZFvh 8 2= MS 4
6 | 144395000M TL—F%T7—ACP 1
7 | 1444950003 7L —F%H/—CP 1
8 | BJ08016 Ho7Fk¥yv 7B 10. 9 M8X16 4
9 | JCS204LLU a=y baUXTY L CS204LLU 2
10 | JPFL204G NAT7FY v PFL204 4
11 | 055474000M BT XALE 8. 8 M8X20 4
12 | WsA08 NEYPHx 397 MS 4
13 | NSzo08 affBZFyh 8 2va MS 4
14 | 144496000M =V 1
15 | 067931100M Ty ;12 2
16 | NNF12 7504 arFy N M1 2 5
17 | 144497000M o RCP 1
18 | 0926011006 A7V T A 1
19 | 099710000M HT— 2
20 | 144399000M 777y hCP 1
21 | KBB-2525A =R RIARTY LT A 25X28X25 2
22 | BZ12075 AL 8.8 M12X75 1
23 | 042783600M Ty ;12 2
24 | 065482200M Ty ;12 1
25 | 1444780003 kP HR— 1 1

-35-




TSW2000 R —55w/\
Ry IL—F

17

065-0055-1026

AR E O & B W A W j[EE fid
26 | 1443840003 Ny T HR—; 2 1
27 | 1318840000 ~ 7Rk 2
28 | CP03010 +F_axy M3X10 4
29 | NAO3 Fvh 4 232 M3 4
30 | Wso03 NEYPHx 297 M3 4
31 | BSZ08020 SaFHARLE 7T M8X20 2
32 | 044097200M Ty ; 8 2
33 [ WSA08 NREXPAFX 337 M8 2
34 | NSZ08 affZFyk 8 22 MS 2
35 | 067122000M Fa N 3
36 | CM06016 +Hh7axY M6X16 9
37 | WRAO6 7R M6 9
38 | WS06 NEYPHx 297 M6 9
39 | NZ06 Fvh 8 2v=2 M6 9
40 | EH1382467591 | =— K27 5.7 ;8. 5—85 5
41 | 1065870000 FYL s 443y 173 2
42 | 1449720000 TV Xy by R 1

-36 -




TSW2000 HAErEIR—55 v/

HIN—

AR E O & B =
1 1449940003 HoN—= s Ry T A 1
2 1449870003 HX3—CP ; L 1
3 144228000M A7 1
4 | BSZ08025 afjEFRL S 7T M8X25 2
5 | BSZ08016 aBHERLE 7T MS8X16 2
6 | WSAO8 NEPHFX 337 MS 4
7 | NSZ08 affZFyh 8 22 MS 2
8 | 1447551003 HX=CP ; R 1
9 | 144982000M 727 hCP 1
10 | 144984000M 777> hCP 1
11 | 1308780000 2 7N KL 13
12 | BSZ08020 affEFRALE 7T M8X20 3
13 | 044097200M Ty ;8 3
14 | WsA08 NEYPHx 397 MS 3
15 | NSZ08 affZFyh 8 22 MS 3
16 | 1448350003 HN—CP ;, B =% KNy 1
17 | 1448550003 7ay hHR—CP ; L1 1
18 | 1448610003 7uy hHNR—CP ; R1 1
19 | 144976000M A7—CP; F 4
20 | BSZ08025 afHARLE 7T M8X25 16
21 | 044097200M Ty ;8 32
22 | WSA08 NEAYFHR 397 MS 16
23 | NSZ08 affFZFyh 8 2va MS 16
24 | 1448950003 7ay hHN—CP ; L2 1
25 | 1449010003 7uy hHNX—CP ; R2 1

-37 -




TSW2000 #iEFRA—55v/3

HIN—

RiEE| 5 & B - <R &% T
26 | 144723000M IR— 2
27 | WRAOS vt 7R M8 2
28 | PC032016 UL 3. 2X16 2
29 | 1447990003 H3—CP ;L—Lo 1
30 | 1448030003 H3—CP ;R—Lo 1
31 | BSZ08016 aFHZRLE 7T M8X16 10
32 | 044097200M Tyl 8 10
33 | WSA08 NEYFHR 337 M8 10
34 | 1449600003 =~ HX—CP ; UL 1
35 | 1449630003 =~ HX—CP ; UR 1
36 | BSZ08025 afHARLE 7T M8X25 8
37 | WSA08 NAYFHR 337 M8 8
38 | 044097200M Tyl 8 8
39 | 144995000M 25— ;UL 1 1
40 | 144996000M 27— ; UR 1 1
41 | BSZ08016 aFHZRLE 7T M8X16 4
42 | WSAO8 NEAYFHR 337 M8 4
43 | 144997000M 25— ;UL 2 1
44 | 144998000M 27— ; UR 2 1
45 | BSZ08025 aFHERLE 7T M8X25 4
46 | 044097200M Uiy 8 4
47 | WSA08 NEYPHx 397 MS 4
48 | NSZ08 afBZFyh 8 22 MS 4
49 | 1448810003 =+ HX=CP ; L 1
50 | 1448870003 F—F+HX—=CP ; R 1
51 | 1447440000 TLFL—k 2
52 | 144990000M A 2
53 | BSZ08020 SRV E 7T M8X20 4
54 | WSAOS NEP A 337 M8 4
55 | NSZ08 afiZFwk 8 2va MS 4
56 | 144980000M 257—CP ; RE 4
57 | BSZ08025 SaBHARLE 7T M8X25 16
58 | 044097200M 7yl oy ;8 32
59 | WSAOS NEYPHFR 337 MS 16
60 | NSZ08 aBBZFyh 8 2va2 MS 16
61 | 1449440004 U7 J3/8—CP 1
62 | BSZ08025 SRV E 7T M8X25 8
63 | 044097200M Ty ;8 8
64 | WSAO8 NEAYFHR 337 M8 8
65 | 1448661003 NI HN— L1 1
66 | 1448671003 NI T HNR— R 1 1
67 | BSZ08020 aHEZRLE 7T M8X20 10
68 | 044097200M Uiy 8 10
69 | WSAOS NEYPHx 397 MS 10
70 | NSZ08 afBZFyk 8 22 MS 10
71 | 1448680003 NS TIHAN—CP ;L2 1
72 | 1448690003 NI HN—=CP 3 R2 1
73 | BSZ08020 aHARLE 7T M8X20 6
74 | 044097200M Jyiv ;8 6
75 | WSAO8 NEYPHx 397 MS 6

-38 -




TSW2000 R R—5Fv/\

HIN—

FHES| B 5 & 5 L I <R i) %k fi =
76 | 1448520003 NI THNR— RelL 1
77 | 1449990003 NV HR—: ReR 1
78 | BSZ08020 aBFHRNLE T M8X20 6
79 | 044097200M Jyiy ;8 6
80 | WSA08 NREPFHR 3327 MS 6
81 | 1448910003 NS T HNR— 1 1
82 | 1448920003 NSV THIN—CP ;2 1
83 | BSZ08016 aBEZARLE 7 M8X16 3
84 | 044097200M Jyi¥ ;8 5
85 | WSAO8 NP Hx 337 MS 5
86 | NSZ08 aBAFyh 8 2v=2 MS 2
87 | 1449660000 FYL s AT A4 7L (STAR) 1
88 | 1449670000 FYL s AT A4 7R (STAR) 1
89 | 1451390000 FSYL s A NTA S 1
90 | 1065960000 FYL s r4ay 182 2
91 | 1412920000 G YL e N A ~A 1
92 | 1449690000 FAYL s Fa 2
93 | 1064980000 SV A3y 84 4
94 | 1064170000 SV A3y 36 3
95 | 1062410000 TV A3y 19 1
96 | 1065370000 SV A Ay 123 2
97 | 1064850000 SV A3y 71 2
98 | 0009620000 N FY—-60CIS 2
99 | 0009600000 N F S W—60C 1 2

-39.-




TSW2000 #liiEIN—55y/8
N QAURT TRYFYITINTFI—2

AR E O & B W 4 i (EEAS fid
1 144499000M SNV A 1
2 | CAP028616 ¥yv7 28. 6X1. 6 2
3 144500000M HZ—;35. 7X133 2
4 | 0803454004 A7vs v~ 6T 2
5 | ONB6 JV—A=v7)L B M6 2
6 | 060036100M ALE Av¥x S45C Boxv 2
7 | 026970100M Ty ; 14 2
8 | 068367000M ZL— Lk 2
9 | 057045200M ATV T $22X88 2
10 | 144425000M o= 2
11 | 1445020000 L RT X T R 1
12 [ KFC10080500 | ~Af 2% — Uz~ 10X8X50 2
13 | 0855871004 27vas vk, 6T 2
14 | TRK08012 6 hAxXY 10. 9 Z7ARI M8X12 4
15 | 1380830003 AR 2
16 | JuC207D1 o=y hIURTYLZ UC207D1 2
17 | ONB6 J)—A=v7)L B M6 2
18 | BSZ10025 afEZRLVE 7T M10X25 4
19 | WSAL0 NEYPHR 337 M10 4
20 | 144503000M HT7—;35. 7X108 2
21 | 144504000M H7—;35. TX9 1
22 | 1445050004 A7y h; 50X35T 1
23 | KFB10080300 | ~f 2 u¥x— HH</L 10X8X30 1
24 | PC063056 Yy 6. 3X56 1
25 | 144506000M Al N 1

-40 -




TSW2000 #liiEIN—55y/8
N QAURT - TRYFXITILFI—2-

AR E O & B W A W (EEAS fid
26 | BZ12040 ALK 8.8 M12X40 2
27 | WSA12 NEPHx 327 M1 2 2
28 [ NZ12 JFvhk 8 2v=2 MS 2
29 | BSZ10030 SHHERLE 7T M10X30 4
30 | NSZ10 afFFy k8 22 MI1O0 4
31 | WSALO NREP A 327 M10 4
32 | 075290100M Ty v ;10 4
33 | 132819000M 7= 29X9 1
34 | 143086000M 17— ;29X14 1
35 | 132816000M ATy h; 50X12T 1
36 | 059313100M P HF 1
37 | BSZ08020 aHEZRLE 7T M8X20 1
38 | WSAOS NEYPHx 397 MS 1
39 | LA50050 n—5Fx—2r 50X50L 1
40 | 1445071003 Fr—rH—CP 1
41 | BSZ08020 aFHERLE 7T M8X20 3
42 | WSAO8 NEYFHR 337 M8 3
43 | WRAOS IR M8 3
44 | 144511000M aLRFNR—CP ;942 24
45 | 084839100M FHF XTI NFz—2 ;5000 146
46 | 1064170000 S~YL AL al 36 1
47 | AAO50 H—5Fz—2VYEF 50 1
48 | AD050 7y bV ”7 50 1

-41 -




TSW2000 R —55y/\
N ) TU— L BAN - ND

065-0055-1027

AR E O & B W A W (EEAS T
1 1448080004 NTIFT Y7 CP 1
2 | BZ12040 ALK 8.8 M12X40 32
3 | WSAI2 NEYFHR 337 M1 2 32
4 | NZ12 Fvh 8 232 M12 32
5 | 1446820003 NIV T T L—ACP 1
6 | 1446550004 B A FX—ZCP 1
7 | 1397080000 aBAH ;3210 6
8 | TMB06035 YT H49EL XY B—1 6X35 42
9 | BZ12030 ALK 8.8 M12X30 12
10 | WSA12 NREPF A 337 M1 2 12
11 | NZ12 Fvh 8 232 M12 12
12 | 1447250000 TS L— |k 1
13 | 144726000M ZFL—k 1
14 | BZ06040 ALE 8. 8 M6X40 4
15 | WRAO6 E 7R M6 4
16 | WS06 NEAYFHR 297 M6 4
17 | NZ06 vk 8 2¥=2 M6 4
18 | 1452630000 A=A 1 -
19 | 1452640000 A=A 5 2 -
20 | 1065930000 FYL sy A4 ay 179 2
21 | 0008800004 N7 F90X120 2
22 | J30210 T—u—I_7Y 7 30210 2
23 | J30213 FT—_u—I_7Y 7 30213 2
24 | 0008810000 =Tyl v 65X120 2
25 | 000882000M Xy v ALFy bk M39X2. 0 2

-40 -




TSW2000 R —55y/\
N ) TU— L BAN - ND

065-0055-1027

AHES| o il o 4 R %% fii =
26 | PC063056 JUEY 6. 3X56 2
27 10008830004 |Frv7 ;90 2
28 | 0008780000 | ALK :MI18X1. 5X49 12
29 | 000884000M | A&AA—LF v M18X1. 5 12
30 | 1436160000 | ¥A¥:;13. 0/75—16—10PR 2
31 | 1437420000 |37 2
32 | 1437430000 | AA—/L; 11X 16 2
ASY | 1437540000 #4¥AS:13. 0/75—16—10PR TL 2 | ®30~32 M7k

-43 -




TSW2000 #EEiEA—55w/1
IvEVTIL—L4

14142
065-0055-1028
AR E O & B W A W (EEAS fid

1 1441040003 Ty T71L—ACP 1
2 | BZ16055 ALk 8.8 M16X55 12
3 | WSAlL6 NEYHR 337 M16 12
4 | NZ16 Fvh 8 232 M16 12
5 1441050003 777> hCP 2
6 | BZ16045 ALK 8. 8 M16x%X45 12
7 | WSA16 NREXPAFX 327 M1 6 12
8 | NZ16 Fvk 8 232 M16 4
9 | 1441060003 AT 7L —ALCP ; L 1
10 | 1441070003 {7 7L —ALCP ; R 1
11 | BZ16060 ALE 8.8 M16X60 8
12| 000761100M Tyl 16 8
13 | WSAl6 NEYPHx 397 M16 8
14 | NZ16 Fvh 8 2v=2 M16 8
15 | 1430572003 7 X7 L —ACP 1
16 | BZ16045 ALk 8.8 M16X45 8
17 | WSA16 NEYFHR 337 M16 8
18 | NZ16 JFvhk 8 2¥=2 M16 8
19 | 1441120004 2K RCP 2
20 | CAPO75075 Xyv/sS 7T5X75X3. 2 2
21 | 107069000M Err 20 2
22 | 000738000M JoFEY; 6 2
23 | 1065400000 FYL A4 a3y 126 2
24 | 1065410000 FYL A ay 127 2

-44 -




TSW2000 iR —55w/8
T4V LRILE

14096-1

065-0054-1027

AR E O & B W A W (EEAS fid
1 1430750003 777w FCP 2
2 | BZ16035 ALK 8.8 M16X35 6
3 | WSAlL6 NEYHR 337 M16 6
4 1430760003 F T HENLE—CP ; UP 2
5 | 1430770003 Z 9 THENVE—CP ; Lo 2
6 | 1430780003 7y RCP 2
7 ONA6 J)—A=v7)L A M6 6
8 | ONB6 7Y —=ZA=v7/L B M6 2
9 | 137598000M EYCP;F25X75 4
10 | 119437000M EYCP;F25X116 4
11 | WRA24 eI AR M2 4 8
12 | 083995000M Ty 17X4. 5 8
13 | NN16 FA4urFy b M16 8
14 | 137585000M AT 2
15 | 137586000M T — 2
16 | CAP027228 XyvS 27. 2x2. 8 2
17 | PS050040 2AFY LT 5X40 2
18 | 137595000M F¥ L FILCP 2
19 | 040588101M AT T 6
20 | NNF10 7504 arFy R M10 6
21 | 137588000M ARV 2
22 | 044097200M Ty ;8 4
23 | WSA08 NEAYFHR 397 MS 4
24 | BSZ08025 afHRLE 7T M8X25 4
25 | 137587000M FA 7 2

-45 -




TSW2000 iR —55w/8
T4V LRILE

14096-1

065-0054-1027

FHES| B 5 & 5 H i % FR (EEAS fid
26 | WRAOS IV FR M8 4
27 | WSAO8 NEPH X 33T M8 4
28 | BSZ08016 aBFHRNLE 7T M8X16 4
29 | 119442000M F>CP;F16xX35 2
30 | WSAL0 NEYPHR 337 M10 2
31 | BSZ10020 aBHARLE 7 M10X20 2
32 | WRA20 ETHAR M20 2
33 | PC040032 JUELy 4X32 2
34 | BXI14060 AR 10. 9 Py M14X60 2
35 | NZ14 Fvk 8 232 Ml14 2
36 | 0433691000 X FamA T L—h 2

- 46 -




TSW2000 #AEEIR—55w/\
A—F—av7—L-t—20F747—L

i

B Mﬂ 12
= a
7~

I

AiTH=E

140521 |
AR E O & B W A W &% fii =
1 1440140003 7 —LRILHZCP 1
2 | 1430650003 A7alry h; 80X24T 1
3 | BZ12040 AL 8.8 M12X40 4
4 | WSA12 NEHPFHFX 337 M1 2 4
5 | 119900000M R A 1
6 | 119901000M Ty ; 43X6 1
7| Ws42 NREP AR 227 M4 2 1
8 | 124982000M HT—:50. 5X15 1
9 | ORP032 oVy”7 P—32 1
10 | TRK06020 6 hAXY 10. 9 ZAKRI M6X20 2
11 | NZ06 Fvh 8 232 M6 2
12 | Ws06 NREYPHx 297 M6 2
13 | 1430660003 n—5—3 g3 7 —ALCP 2
14 | BZ16045 ARLE 8. 8 M16X%X45 8
15 | NZ16 Fvh 8 2v=2 M16 8
16 | WSA16 NEYFHR 337 M16 8
17 | BZ16120 ALE 8.8 M16X120 2
18 | NN16 FAuarFyh M16 2
19 | 042322200M Jyiv ;16 4
20 | 124540100M VAt 1
21 | BSZ08012 aFERNLE T MS8X1 2 4
22 | 044097200M Jyiv ;8 4
23 | WSA08 NEAYFHR 397 MS 4
24 | 1440080004 =77 47 —ALCP 2
25 | BZ12070 ARLE 8.8 M12X70 2

-47 -



TSW2000 HAEREIR—55 /N
A—F—av7—L-t—20F747—L

H#ITHE

065-0005-1009
FHES| B 5 & 5 L I <R i) T

26 | WRA12 eI AR M1 2

27 | NNF12 750 4 arFy h M1 2 2
28 | 0940350000 HAZT) 7 40Kg f 2
29 | BSZ08020 SIHZRLE 7T M8X20 2
30 | BSZ08025 aBFERNLE 7T M8X25 2
31 | NSZ08 afBZFyhk 8 22 MS 2
32 | WSAO8 NREXP AR 337 MS 2
33 | NNFO8 7oA arFy b M8 2
34 | 1201850000 XA T HR— 2
35 | ILT100 A any ¥4 2. 5X100 -
36 | BZ12080 ALE 8.8 M12X80 6
37 | NZ12 Fvh 8 232 M12 6
38 | WSAL2 NEYPHx 397 M1 2 6
39 | 1385460000 TV, RTIv—2 250 2
40 | 1180850000 SV T VA 2
41 | BSZ10045 aBfARLE 7 M10X45 2
42 | NNF10 75 F 4 arFy h M10 2

-48 -




TSW2000 HAErEIR—55 v/

T—LIK
38
40
R
EFTHR
14093
065-0005-1008
AR E O & B W A W (EEAS fid
1 | BZ12035 ALK 8. 8 M12X35 2
2 | WSA12 NEPHx 327 M1 2 2
3 | WRAL2 EZH AR M1 2 2
4 | 1197590003 7L —F_X—ZCP 1
5 | BZ12050 ALk 8. 8 M12X50 1
6 | BZ12055 ALKk 8. 8 M12X55 1
7 | \NF12 7504 urFy Rk M1 2 2
8 | 040608401M Ty ; 13X4. 5 1
9 |NZ12 Fvh 8 232 M12 2
10 | WSA12 NREPF A 337 M1 2 2
11 | 042783600M Toiy ;12 2
12 | 119696000M > KCP 1
13 | WRA12 EI7HHR M1 2 1
14 | PC032020 JUEY 3. 2X20 1
15 | NZ12 Fvh 8 232 M12 2
16 | 1430670003 A7y h; 80X14T 1
17 | TRK08020 6 hAXY 10. 9 ZHKI M8X20 2
18 | 059313100M WAV 1
19 | BSZ08020 aFHERLE 7T M8X20 1
20 | WSA08 NEYFHR 397 M8 1
21 | LA80038 n—5Fx—2 80X38L 1
22 | 1198980003 NS 1
23 | J6210LLU R—=N_T7Y7 6210LLU 2
24 | DHC090 CHZKMAT TF 90 1
25 | BZ12045 ALKk 8.8 M12X45 4

-49 -




TSW2000 HAErEIR—55 v/

T—LIKD
38
\@} [
ETHE 35
14093
065-0005-1008
FHES| B 5 & 5 L I <R i) (EEAS T
26 | NZ12 Fvh 8 2v= M1 2 4
27 | WSA12 NEPHx 327 M1 2 4
28 | 1430680003 HA—CP ;1 1
29 | BSPZ08020 aHXSWYFHRALE 7 M8X20 2
30 | 044097200M Uiy ;8 2
31 | 1201900003 HXR—CP ; 2 1
32 | BSPZ08016 af X SWYFHRLE 7 M8X16 2
33 | BSPZ08020 aHASWYFHRALE 7 M8X20 2
34 | 044097200M Jwi v ;8 4
35 | 143069000M 777> hCP 1
36 | BSPZ08025 aB X SWYFHRLE 7 M8X25 2
37 | 044097200M Uiy 8 2
38 | 1430701003 H3—C P 1
39 | BSPZ08020 afXSWYFHRALE 7 M8X20 4
40 | 044097200M Uiy 8 4
41 | AAOSO n—5F - —LYEF 80 1
42 | ADO8O +7® vV 80 1

-50 -




TSW2000 #AEEIR—55w/\
ALY FIL—LA

19 8
\ /"-&Lﬁ“'g
:—.___ T = é.-___- 5
D |ff &
4 "*ﬁ_ﬁ//ﬂ o, 7
/@s—f -
24 ___%_::? ’ |~ 3___&
16— f/ED 1
T =15
|
26 S
1
2:{\@ ﬁ\zz 1?-.______? | I & 7
21 = — T
. e e 11
° Il
| 14004-1
QES-00331035
AHES| o W 4 R %k T =
1 | 1440170004 | A KL wF7L—ACP 2
2 | 132367000 | 7L— K 2
3 | BSZ08020 IRV E T M8X20 4
4 | NSP08 SfHEAT) T Fy 4 MS 4
5 |132368100M | 7w ZCP 2
6 | 080414100M Ty 8 2
7 | BSZ08025 afj AR 7T M8X25 2
8 | NNFO8 7oA urry b M8 2
9 10433454000 | HALA—ZFY LT Ao X 2
10 | 132369000M | 7w 7 2
11 | BSZ10035 ajjZRLE 7 M10X35 2
12 | BSZ10040 aFERLE 7T M10X40 2
13 | NSzZ10 ajjiZFyh 8 232 M1O0 4
14 10999180000 | HAAFV L2 :50kgf 2
15 | NNF10 770, urF vk M10O 4
16 | 144019000 | >+ 7 k 2
17 | BSZ10055 aFAZRLE 7T M10X55 2
18 | \F10 75 furFvk M10O 2
19 | 000088100M | X—&ZE> ;19X 3 2
20 | PC050036 JUEY : 5X36 2
21 | 132377000 | RAKXCP 2
22 | BZ06055 ALK 8. 8 M6X55 2
23 | NNFo6 75 FfurFy b M6 2
24 | 1323741000 n—5:625. 5 4

-51 -




TSW2000 HAErEIR—55 v/
ArLyFR—3

065-0033-1036

FHES| B 5 & 5 L I <R i) (EEAS T
1 1438940004 7L —ALCP ; AL yF 2
2 | JCS203LLU o=y h=IURTYLY CS203LLU 8
3 | JPFL203G NAT75Y B PFEL20S3 16
4 | BZ06020 ALE 8. 8 M6X20 16
5 | WRAOG E 7 AR M6 16
6 | WS06 NEPHFX 237 M6 16
7 | NZ06 >k 8 2i =2 M6 16
8 | 1379610004 HN—=CP ; AL vTF 2
9 | NNFO8 T Ay b M8 4
10 | 1439050000 ARLvFua—5CP:610 4
11 | 117392000M HT—:17. 5X4 4
12 | KFD05050100 | ~f 27 F%— UzavkZ 5X5X10 4
13 | 1439010002 FY ;M3x28T (t10) 2
14 | 1439020002 F¥Y:;M3Xx18T (t10) 2
15 | WRA12 EI7H AR M1 2 4
16 | WSAL2 NEYFHR 337 M1 2 4
17 | NZ12 Fv bk 8 2¥=2 MI12 2
18 | 144013000M oy R 2
19 | NSZ08 afyZFyh 8 2va2 MS 8

-52 -




TSW2000 iR —55w/\
T2 T—=J)L0—5

EITAR

=9

AR E O & B
1 1441080003 F—7J)LCP 1
2 | 143080000M F>CP;F30X158 2
3 | 084346000M HT— 2
4 | WRA10 eI AR M10 2
5 | NNF10 77V A4 vty R M10 2
6 | ONA6 J)—A=v7)L A M6 2
7 | 098495100M Ay aa—CP 2
8 | 000415000M Trv/:62 2
9 144109000M 727 hCP 2
10 | KBB-2520B H—R RITA_TY 7 B 25X28X20 4
11 | ONB6 7V —ZA=v7/L B M6 2
12 | WRA24 v IR M2 4 2
13 | PS060050 AFYL T 6X50 2
14 | BSZ10030 aBERLE 7T M10X30 4
15 | 044098500M Jviv ;10 4
16 | WSAL0 NEYPHR 337 M10 4
17 | 1430810004 n—ZCP; F 1
18 | 1430820004 A7y h; 50X38T 1
19 | BSZ10030 affEFRALE 7 M10X30 4
20 | WSA10 NEYFHR 337 M10 4
21 | JUCFL207D1 X7V /2=y UCFL207D1 2
22 | BZ14045 ALk 8.8 M14X45 4
23 | WSA14 NEYPHR 33 M1 4 4
24 | NZ14 Fvhk 8 2¥=2 Ml4 4
25 | 1430830004 1—7CP ; RE 1

-53 -




TSW2000 iR —55w/\
T2 T—=J)L0—5

33
0

10"

N

AR E O & B W A W (EEAS fid
26 | JUCFL207D1 _X7Y 2=y UCFL207D1 2
27 | BZ14045 ALk 8.8 M14X45 4
28 | WSA14 NEAYFHR 330 M14 4
29 | NZ14 Fvh 8 232 Ml4 4
30 | 1441100004 o—JCP; 76. 3 2
31 | JUCFL205D X7y 7a=vhF UCFL205D1 4
32 | BZ14045 ALK 8. 8 M14xX45 8
33 [ WSA08 NREXPAFX 337 M8 8
34 | NSZ08 affZFyk 8 22 MS 8
35 | 1325481000 ~JLk; 2210 2
36 | 143085000M ~)L N A RKCP 1
37 | RBT10020 REZB 10. 9 M10xX20 4
38 | WSALO NEYPHx 397 M10 4

-54 -




TSW2000 #iEFRA—55v/3
T—7 VIR

18

22

RO

16:20-21

AR E O & B W A W j[EE fid
1 132816000M A7aryh; 50X12T 1
2 | 132819000M 17— 5 29X9 1
3 | 143086000M HT7—;29X14 1
4 | BSZ08020 S HZRLE 7T M8X20 1
5 | WsA08 NEYPHx 397 MS 1
6 | 059313100M WS 1
7 | 040608401M Tyl vy 13X4. 5 1
8 | NZ12 Fvk 8 232 M12 4
9 | WSA12 NEYPHx 337 M1 2 4
10 | 1430870003 F—HX—ZCP 1
11 | 143088000M 7y KCP 1
12 | WRA12 v IR M1 2 1
13 | PC032020 JUELY 3. 2X20 1
14 | 025266000M Fay AR 1
15 | NZ12 Fvh 8 232 M12 2
16 | LA50054 n—5Fx—r 50X54L 1 | @20, 211+
17 | 1441110003 F3—C P 1
18 | BSPZ08025 aB X SWYFHRALE 7 M8X25 3
19 | 044097200M Tyl 8 3
20 | AA050 H—5F—2VYEF 50 1
21 | AD050 7y U7 50 1
22 | 1064170000 SV A3y 36 1

-55 -




TSW2000 HAEREIR—55 v/
AT A

60

TANED

SYFTLOAY

BUTFLAPYRST SyTFUTRS .
o FANBLY

I
\Wéyv‘-l;?‘yﬂ-b“j ]

14145
065-0055-1029

AR E O & B W a4 i (EEAS T =
1 1442330000 BT RAT I RAT 1
2 4040-10-08 SAE OVUYVZHRA FA90° /LR 1
3 | 2081-06-08 T PT3,/8XPT1,/2 1
4 | 2096-06 Vv hk PT3,/8 1
5 4043-10-06 UNFZ7v>>/2 UNF7,/8—14XPT3,/8 1
6 1033-06 AR—Ax/HR PF3,/8XPT3,/8 1
7 | 4045-12 TVx AR T FARAATILR 2
8 1033-12 R—AxT )R PF3/4XPT3,/4 1
9 1035-12 HA—AxT)R45 PF3/4XPT3,/4 1
10 | BSZ10045 afFFNLVE 7T M10X45 2
11 | WSA10 NREXP A 327 M10 2
12 | NSZ10 affZFyh 8 2¥a M1O 2
13 | 1447310003 FANE 7 CP ; 20L 1
14 | 2087-08 ARATLR PT1,/2 2
15 | 1013-08 AR—A=v7) PF1/2XPT1,/2 1
16 | 2081-08-06 Ty PT1,/2XPT3,/8 1
17 | 2082-08 vy 777 PT1,/2 1
18 | 144732000M B a4 TCP 1
19 | 2091-08 74— PT1,/2 1
20 | 1033-12-08 R—ATNVR PF3/4XPT1,/2 2
21 | 1447680000 aT7VYAR—A;3,/4X500 2
22 | 1432390000 g A R L—F 1
23 | 0962640000 Ny F 1
24 | CP06016 +F_axy M6X16 10
25 | WS06 NREYPHx 297 M6 10

-56 -



TSW2000 HAEREIR—55 v/
AT A

TANED

60

SYIToOAY
) e [
SrThaATIRyT 3"7’?’7"’ n o‘ F A5y
l
5 Tzl
AR E O & B W A W (EEAS T =
26 | 0963530000 F oy F 1
27 | CP05012 +F_Raxy MbLEX12 3
28 | WS05 NEYFHR 297 M5 3
29 | 0963800000 Fa2—7:10 1
30 | 1450280000 HR—=ANRK; 8—16 2
31 | BSZ10025 afEFRNLE 7 M10X25 4
32 | WRALO ETHAR M10 4
33 [ WSALO NREPHX 327 M10 4
34 [ NSZ10 affZFyk 8 22 MI1O 4
35 | 1441550000 FoYNRy; TSW 1
36 | 144729000M 7Ty RCP ; TRy 1
37 | 144760000M F ¥ LRI 2
38 | BH05080 Xvv7B 10. 9 M5X80 2
39 | WS05 NREYPHx 297 M5 2
40 | NAO5 Fvh 4 232 M5B 2
41 | BZ06020 ALk 8. 8 M6X20 2
42 | WS06 NEAYFHR 297 M6 2
43 | BSZ08020 aFHARLE 7T M8X20 8
44 | WRAOS IR M8 4
45 | WSAO8 NEYFHR 397 M8 8
46 | NSZ08 afBZFyh 8 2va2 MS 4
47 | 106900000M 7y PF1,/2XPT3,/8 1
48 | 2088-06 AAF AR PT3,/8 1
49 | 2086-06 T)LR PT3,/8 1
50 | 106900000M 7y PF1,/2XPT3,/8 2

-57 -




TSW2000 HAEREIR—55 v/

AT A
RiEE| 5 & B W s A PR &% T
51 | 1369190000 TA4NE 3 1,/2—60u 1
52 | 1035-06 AR—AxT/NR45 PF3,/8XPT3,/8 1
53 | KH0604500BP | =7 YA —2A 3,/8X4500 S1—4 1
54 | 117267000M Ty PF1/2XPT1,/2 1
55 | 2083-08 =7/ PT1,/2 1
56 | 2091-08 74— PT1,/2 1
57 | 2081-08-04 Ty PT1/2XPT1,/4 1
58 | 103504 AR—AxT/NR45 PF1/4XPT1,/4 1
60 | KH0804500PP | =7 Yhk—A 1,/2X4500 4—4 1
61 | 1441810000 F R 1
62 | 144260000M _—ZCP 1
63 | BSZ08110 afFEZRLVE 7T M8X110 2
64 | BSZ08016 affEFRLE 7T M8X16 2
65 | WRAOS IR M8 2
66 | WSAOS NEAYFHR 337 M8 4
67 | 1067-06 FAaxysH— PF3,/8XPT3,/8 1
68 | 1006-06 R—AFAAAL~)L PF3,/8XPT3,/8 1
69 | 2091-06 74— PT3,/8 2
70 | 2083-06-04 =7V PT3/8XPT1,/4 1
71 | 1447700000 YU—72v7 ; PT1,/4 1
72 | 1035-06-04 AR—Ax)LR45 PF3,/8XPT1,/4 1
73 | 2086-06 )R PT3,/8 1
74 | 106900000M Ty PF1/2XPT3,/8 2
75 | 1369190000 TANE 1,/ 2—60u 1
76 | 2083-06 =7/ PT3/8 2
77 | 2091-06 74— PT3,/8 1
78 | 2081-06-04 Ty PT3/8XPT1,/4 1
79 | 1447690000 TYVarshrA; PT1,/4 1
81 | KH0O604500BP | =7 YA —A 3,/8X4500 S1—4 1
82 | 1068-06 PF7wvy>Z7 PF3/8XPT3,/8 1
83 | 2086-06 TR PT3,/8 1
84 | 2091-06 74— PT3,/8 1
85 | 103506 R—AT)NR45 PF3,/8XPT3,/8 1
86 | KHO600350PP | =7V —A 3,/8X350 4—4 1
87 KHO605000DF a7VYiER—A 3,/8X5000 S901—S451 1
88 | 1126-06 AT PF3,/8 1
89 | 1100-06 7y PF3,/8XPT3,/8 1
90 | 2083-08 =7 PT1,/2 1
91 |2091-08 74— PT1,/2 1
92 | 1033-08 AR—AxT/)R PF1/2XPT1,/2 1
93 | 2081-08-04 Ty PT1/2XPT1,/4 1
94 | 1035-04 AR—Ax)R45 PF1/4XPT1,/4 1

- 58 -




TSW2000 HAEREIR—55w/N
AT N—F

-
)

Tt B LA

B—s )
ﬁl‘\\ %4_5 a7V 597 ~
fbﬁ&%f ‘ F39F29a AT
ﬁ 4 &11 9)
W 9 AR=STUIRY.
? F—ks )5
«'—a#wl;&y
=
Y
E / | AV =
= o|_| Q
AR E O & B W a4 i (EEAS T =
1 1068-04 PF7vy 27 PFE1/4XPT1,/4 2
2 2086-04 )R PT1,/4 2
3 2091-04 74— PT1,/4 2
4 | 2082-04 vy 777 PT1,/4 1
5 | 2083-04 =—wy7)N PT1,/4 1
6 | KH0O401400BP | 7 YAHR—Z 1,/4X1400 S1—4 1
7 | KHO403550DP | = 7Y R—Z 1,//4X3550 S901—4 1
8 1033-04 R—AxT/)AR PF1/4XPT1,/4 2
9 | 0009280000 ARy T T 1,4 1
10 | 2083-04 =7/ PT1,/4 1
11 | 2091-04 74— PT1,/4 1
12 | KHO401800BP | =7 VY&HA—Z 1,/4X1800 S1—4 1
13 | KH0O404000DP | =7 ¥YhR—Z% 1,/4X4000 S901—4 1
14 | 1033-04 AR—AxT/)R PF1/4XPT1,/4 2
15 | 1265310006 PUYUHE CWPA45X490X670 2
16 | BZ20110 ALk 8.8 M20X110 4
17 | NN20 FAarFy b M20 4
18 | KHO400550BE | 7Y AH&—A 1,/4X550 S1—S902 2
19 | 2081-06-04 R—A=v7) PF1,/4XPT3,/8 1
20 | 106900000M 7y PF1,/2XPT3,/8 2
21 | 1437050006 a7VE—4 ;80 1
22 | 144728000M T H R 1
23 | BZ12040 ALk 8.8 M12X40 2
24 | WSA12 NEYPHR 337 M1 2 2
25 | NZ12 Fvh 8 2v=2 M12 2

-59 -




TSW2000 HAEREIR—55w/N
AT N—F

F—r U LA

2 28 29
B—3 35/@&34
@_5 éy A7V 597 ~
® %3 ! Favkanasy
? 4 8¥11
! 8—
2 L‘Q’ 10
- L o
! ? F—t s
O e | |
= =
14146 ! O
/ \Y |
=170
AlEE| & & il o A r 8% Ui =
26 | BSZ08016 aHRILE 7T M8X16 4
27 | WSAO8 NREPHxR 337 M8 4
28 | 100970000M w7 PF1,/4XPT1,/4 1
29 | 2088-04 AAF AR PT1,/4 1
30 | KHO400500AP | == 7YA—Z 1,/4X500 1—4 1
31 | 102551000M T PF3/8XPT1,/4 HA4 Mt 1
32 | 124511000M Fxv VT 3,/8 1
33 | 105166000M T PF3/8XPT3,/8 HANw Mt 1
34 | 2083-06 =—v 7 PT3,/8 2
35 | 2091-06 74— PT3,/8 1

-60 -



TSW2000 HAEREIR—55 v/
A7V 597 1

T—INELTIIE

ATV TvT 2~

26

——~

Y/

N (ATVE—S)

0,55

F=INETIE

14147
065-0055-1031
AR E O & B W A W (EEAS fid

1 105166000M Ty PF3,/8XPT3,/8 HAY v Mt 2
2 1035-06 R—AxT/NR45 PF3/8XPT3,/8 1
3 | KH0600630DP | 7Y A —A 3,/,8X630 S901—4 1
4 | 1193570004 TITAFVT 4T 5 50 1
5 | 144730000M ~_—2: PR 1
6 | BZ06050 ALK 8. 8 M6X50 2
7 | WS06 NEXP AR 237 M6 2
8 | NZ06 Fvk 8 232 M6 2
9 | BSZ08020 affEFLE 7T M8X20 2
10 | WSA08 NEPF A 337 M8 2
11 | 106900000M 7y PF1,/2XPT3,/8 3
12 | 1033-06 AR—AxT/R PF3,/8XPT3,/8 1
13 | KHO606000BP | =7 Y7Hk—% 3,/8X 6000 S1—4 1
14 | KHO406300EP | =7 YHR—2 1,/4X6300 S902—4 1
15 | KH0O603300DP | =7 YH&—2Z 3,/,8X3300 S901—4 1
16 | 1035-06 AR—AT/NR45 PF3,/8XPT3,/8 1
18 | 106790000M = 7N ;PT3,/8XPF3,/8 2
19 | 1003440000 WA b 17 4
20 | 124511000M Frv 7L 7 3,8 1
21 | 102551000M 7y PF3,/8XPT1,/4 2
22 | 2083-04 =y PT1,/4 1
23 | 112531000M 2o —YZ—1 L7 1,/ 4 1
24 | 1013-04 R—A=v 7L PF1,/4XPT1,/4 2
25 | KHO405100DP | =7 YA —A 1,/4X5100 S901—4 2

-61 -




TSW2000 HAEREIR—55 v/
A7V 597 1

RiEE| 5 & B - <R &% T
26 | 1448540006 SULE L CWPB0X200X420 1
27 | 143243000M ELYCP;F25X70 2
28 | ONB6 JV—A=v 7L B M6 2
29 | WRALO EI7HHR M10 2
30 | NNF10 7504 uarFy Rk M10 2
31 | 102551000M 7y PF3,/8XPT1,/4 2
32 | 1013-04 R—A=v7) PF1,/4XPT1,/4 2
33 | KH0402800PP | =7 Yh—A 1,/4X2800 4—4 2
34 105166000M Ty PF3,/8XPT3,/8 HAY vy Mt 1
35 | 106790000M = 7N ;PT3,/8XPF3,/8 1
36 | 1003440000 WAy~ 17 2
37 | 124511000M Frv 7L 7 3,8 1
38 105166000M Ty PF3,/8XPT3,/8 HAY vy Mt 1
39 | 1006-06 R—AF AL~ PF3,/8XPT3,/8 1
40 | 1009-06 R—AARaxs¥— PF3,/8XPT3,/8 1
41 | 2091-06 74— PT3,/8 1
42 | 2086-06 T)LR PT3,/8 1
43 | 105166000M Tyl PF3/8XPT3,/8 HAFvy Mt 2
44 | 124511000M Fxvw 72V T 5 3,/8 1
45 | 1033-06 R—ATNLR PF3,/8XPT3,/8 1
46 | KHOB00630DP | =7 YA&—A 3,/,8X 630 S901—4 2
47 | 1035-04-06 AR—AxT/NR45 PF1/4XPT3,/8 1
48 | KHO402400FP | =7 YAHR—A 1,/4X2400 S451—4 2
49 | 2081-06-04 7y PT3/8XPT1,/4 2
50 | 106900000M Ty 3 PF1/2XPT3,/8 2
51 | 1202350004 a7VE—4%;GFS160 1
52 | 102551000M 7y PF3/8XPT1,/4 1
53 | 1013-04 A—A=v 7/ PF1/4XPT1,/4 1
54 | 2091-06 74— PT3,/8 1
55 | 103506 R—AxTNR45 PF3,/8XPT3,/8 1

-62 -




TSW2000 HAEREIR—55 v/

A7V 597 2
16 13&
17
a7V 5vF1IA
aA7YiSvIIA .//

74’JLA7I'\II19'°/'{“J§U’

a7V v T1A~

O—5F—33v7—4A

AV

[
e
065-0055-1031
AR E O & B W A W (EEAS T =
1 2091-06 74— PT3,/8 1
2 | 2081-06-04 vy PT3,/8XPT1,/4 1
3 | KHO400500DE | =7 ¥h—= 1,/4X500 S901—-S902 1
4 | 1003430000 HA7 >k ;13. 5 1
5 | 2083-06 =—wy7)N PT3,/8 1
6 | 106900000M 7y PF1,/2XPT3,/8 2
7 | 1242720003 a7 VE—H ;250 1
8 | 1242730003 a7 T L—XF 1
9 | 0622830000 ~SMagX—: frva 2
10 | 100970000M Ty PF1/4XPT1,/4 1
11 | 2088-04 AAFAT)LAR PT1,/4 2
12 | 0005260000 7 =7 — 1
13 | 106790000M = 7N ;PT3,/8XPF3,/8 2
14 | 1003440000 WAy ;17 4
15 | 124511000M Fxv 72V T 5 3,/8 1
16 | 2087-06 AATI)LR PT3,/8 1
17 | KHO604800BP | =7 Y7AR—A 3,/8X4800 S1—4 1
18 | 1033-06 AR—AxT)VR PF3,/8XPT3,/8 1
19 | 106900000M 7y PF1,/2XPT3,/8 2
20 | 1242720003 aT7VE—H ;250 1
21 | 119662000M 2T T Ty N 1
22 | BZ06060 ALk 8. 8 M6X60 2
23 | WS06 NEAYFHR 297 M6 2
24 | NZ06 Fvhk 8 232 M6 2
25 | 2086-04 TR PT1,/4 2

-63 -




TSW2000 HIEFEIA—S55w,%

A7V, ov7

2

A—F—tar7—L

AT7Y;5vT 1A~

&

3

o

a7y -:-‘
®

a7V SvTIA

ey

O
Uo
O

25
=1z
7

7
5
&
) 30
\ 29
3

O—F—3av7—A
(A7VE—H)

TANLHRILE IS

i\ / A\ =
[ ]

[ 1ates | ey U

065-0055-1031
AR E O & B W A W (EEAS T =
26 | 112531000M 2a—=YZ—19v7 5 1,/ 4 2

27 | KH0401000BP | =7 YH&—A 1,/4X1000 S1—4 1

28 | KH0402900BP | =7V hR—A 1,/4X2900 S1—4 1

29 | 112156000M TARUNR 1,4 1

30 | 2083-04 =y 7 PT1,/4 1

31 | 119662000M 27Ty b 1

32 | KHO401100DP | =7 YA —A 1,/4X1100 S901—4 1

33 [ KHO402900DP | =7 YA —A 1,/4X2900 S901—4 1

34 | 1035-04 HR—AT)LAR45 PF1,/4XPT1,/4 2

35 | 1033-04 AR—AxT/)R PF1/4XPT1,/4 2

36 | 1193510006 UL E, CWP30X90X230 2

37 | 1013-04 R—A=vF)L PF1/4XPT1,/4 2

-64 -




TSW2000 HAErEIR—55 v/
*aha

/0 41 N 2 9
9 43 40
22}“ ﬁ /@ 28 W&u L
21 0 ‘ 30 o 4
i P Ll

AR E O & B W A W (EEAS fii =
1 144739000M Ry F_R—=2CP 1
2 | BSZ08025 aBFERNLE T M8X25 1
3 | WsA08 NAEYFHR 337 M8 1
4 | 044097200M 7y 8 1
5 | 0993650000 EARSAANR T 1
6 | BP06016 SWYFHR/LE 4. 6 M6X16 3
7 | 131223000M 7—ALCP 1
8 | WRA12 eI R M1 2 1
9 | PC032020 JUEY 3. 2X20 1
10| 099385100M (S 1
11 | WRAO5 E7F xR M5 1
12 | PC020016 JUELY 2X16 1
13 | 139493000M LR— 1
14 | BSZ08016 aBFZRLE 7 M8X16 2
15 | 044097200M Uiy 8 2
16 | 0993660000 VYW —TF A NE D 1
17 | 1089730000 Pra A RNL—F 1
18 | 1089741000 R—ATHTH— PT1,/8 1
19 | 1070310000 F2—73;2250 1
20 | 099386100M 777y hCP 1
21 | BSZ08016 aBFERNLE 7T M8X16 2
22 | WSA08 NEAYFHR 397 MS 2
23 | 1003751000 ATV i S 1
24 | BZ06025 ALk 8. 8 M6X25 2
25 | Ws06 NREYPHx 297 M6 2

- 65 -




TSW2000 HAErEIR—55 v/
*aha

13

s # Lol L

o ¥ 1

AR E O & B W A W (EEAS fii =
26 | 1284630000 F=2—7;2500 1
27 | 1447450000 F2—7:670 2
28 | 139041000M XavaT7I7 v b ;3 1
29 | BSZ08020 SIHZRLE 7T M8X20 1
30 | WSAO8 NEYPHxX 397 MS 1
31 | 1447460000 F2—7:1500 1
32 | 131233000M XTI v b ;2 1
33 | BSZ08020 aH AR 7T M8X20 1
34 | WSAO8 NEYPHx 39T MS 1
35 | NSZ08 afFZFyh 8 22 MS 1
36 | 1312360000 F2—7:;1100 1
37 | 144747000M XavaT7 Ty b1 1
38 | BSZ08012 aHARLE 7T M8X12 1
39 | WSAOS NEYPHx 397 MS 1
40 | 0993870000 7T 4
41 | 099388000M ZFL—h 4
42 | BZ06016 ALE 8.8 M6X16 4
43 | NPO6 AV Fy b M6 4
44 | ILT150 Afrvany XA 3. 5X152 8

- 66 -




TSW2000 R R—5Fw/\

T A

a y

® 597 w— 7ok eqn 36

S i
kT Al (£ o BERARE)| ——© TYarey
° 9 —® #obIL—% syoy

37 —© &gy 2uvy

?’J il [ @) w2 /vFHAFRE
( I:@ FobIL—F TL—%7—LAE
{ aE I:@ S—BR
~ ® -t
@HLO—SEiE
JL—az=yk _E% svay _;Em 2
: T i Lgunes
ik L—©) rsk54+
il
S @:1%\“@’@
) 32
2
> 30
o
©#ELo—5EE Z,‘E X OALLS
A2 A
FYRHLE—S

ol NN
wnrn/ | Q
YL—a1=wpk/ 33 kR Il ()
sononr |
AR E O & B W A W (EEAS T =
1 1444120000 NAVA R NS 1
2 1444130000 ~vAfara=vhF,; TSW 1
3 1439931000 CAN=> Fur—7 ;6 2E 2
4 | BSZ08020 AR 7T M8X20 4
5 | NSZ08 afEZFvh 8 232 MS 4
6 | WSAO8 NEPHFX 337 MS 4
7 | WRAOS eI AR M8 4
8 | 1345450000 o—FK; 5000 2 | FU3O0ff
9 | 1448120000 a—F; VYR 7 A 1
11 | 1448160000 JL—=2=v k 1
12 | BZ06016 ALk 8.8 M6X16 2
13 | NZo6 Fvh 8 232 M6 2
14 | Ws06 NREPHR 237 M6 2
15 | WRAO6 E 7R M6 2
16 | 144817000M AN 1
17 | BSZ08020 aFHERLE 7T M8X20 1
18 | NSZ08 affFZFyh 8 2va MS 1
19 | WSAO8 NEAYFHR 337 M8 1
20 | WRAOS IR M8 1
21 | 1448180000 a—K; Tv7 1
22 | 1314750000 AT b 1
23 | 1398440000 HAT Y FAH 1
24 | 1448190000 HAT Y 3 IRV 1
25 | 144654000M AT — ; /NhTA b 1

-67 -




TSW2000 #EFRA—55v/3
TV DAY

® 597 w— 7ok eqn 36

@35v7 w4 _E\ © 7ovsvin—s

© FroRvisvI
kT Al (£ 21 WHBEERE)| O Tarey
C ] —® #obIL—% syoy
37 [—© mzy suy
@) w2 /vFHAFRE
I:@ FobIL—F TL—%7—LAE
I:@ S—BR
~ ® -t
BHLO—SEE
JL—az=yk _E% 59::;%4& 2

T 7 J Lguns

9
ik L—©) rsk54+
Q Tl
/ 34
17 20 19 ‘i' ! * @y@ % %
18 >
>

% O #Lo—SE#E ZB:E/

1

——=
=)

L
Cm

©5r31

1 A SR q

\\/—\
8 = O ‘ \U/‘,\/_,@,“ TV VTN

HEBTERI () / Q
yL—a1z=whk/ 33 kR Il ()
14148

FYMEHLE—%

AR E O & B W A W (EEAS T =
26 | BSZ08016 aFHHRNE 7T M8X16 1
27 | BSPZ08016 afHSWYFHRLE 7 M8X16 1
28 | 080414100M T % ;8 2
29 | WSA08 NREXPFAX 337 M8 1
30 | NSZ08 afFZFvh 8 22 MS 1
31 | 1255600000 XLvV AL vF 1
32 | 144821000M A A AR R A 1
33 | ILT300 Avvany /X4 4. 8X301 -
34 | ILT150 Avavuy 7 HA 3. 5X152 -
35 | IRF250 VE—RrZA 7. 4X250 -
36 | 1450240000 a— R TNy 1
37 | 1450250000 a— R, 7V Y arskvrH 1
38 | 1450260000 a—F; R—7 1

- 68 -



TSW2000 R R—5Fv/\

T R—5

NS

g
@3

%

-r//") %44 50 )}@ 46\@
©
38 o] o
" 36 | @@
48 15 -=-|
1 FLUS A ol
7t 23 1 ‘% 18 35 34 o~ / é""é
2 @ & e A7 38 o . V==
% @47 8 ¢ ’ /@’ a5 37}/)\%\ //@: & SRy e
5dm\ 4 16 /E@cﬂ 2019 /@ 4@ , 4’725 —
e : 12 d% %0 27 E% 32
ol 2w P @/%31
e 7 24
T/‘/"J:)“f/‘_=ﬂ )
@ \ oo
FLIY A ~
. B el
Svay MT”@"(" 24 L EIERE
~, FUY A ®~ / o | oo | ofio | ollo | o
TGy BN 4
R o ©- 10 " FybTL—%
N 4§®M B2 FLURY ST
g® #—KE Syay
potm AvbTL—% W
TooAY N5 e
\Y4 =

RiEE| 5 & B I <R &%k T =
1 | 1449910000 a—R; TP 5P 1
2 | 1449920000 o—R; TP 8P 1
3 | 1439840000 FVay ; VaXCP 1
4 | 130181000M ZL— kK 1
5 1182500000 <73 b 2
6 | CP03012 +FR_RaRrY M3 X12 4
7 | WS03 NRAYFHR 297 M3 4
8 | WRAO3 vIH AR M3 4
9 | NAO3 JFvh 4 232 M3 4
10 | 0849091000 PANT A 1
11 | NNFO6 750 fuarF v b M6 1
12 | 1122090000 H KW 1
13 | 144822000M 777y hCP 1
14 | BSPZ08020 aB X SWYFHRALE 7 M8X20 2
15 | 044097200M Ty ;8 2
16 | 144825000M AN 1
17 | BSPZ08025 aBfXSWYFHRLE 7 M8X25 2
18 | 044097200M Ty ;8 2
19 | CP04016 +F_axy M4X16 2
20 | WRAO4 v IH¥TR M4 9

-69 -




TSW2000 #EEiEA—55w/1
TU)D N—F

RiEE| 5 & B - <R &% T
21 | NPO4 ATV T Fy b M4 2
22 | TRK04012 6 hAXRY 10. 9 ZHRI M4xX12 1
23 | NAO4 Fvh 4 232 M4 1
24 | 0823530000 TRV UK 1
25 | 1122090000 Hr Y 1
26 | 144826000M ARV 1
27 | 055474000M HIFXFILE 8. 8 M8X20 2
28 | WSA08 NEYFHR 337 M8 2
29 | NSZ08 afBZFyh 8 2va2 MS 2
30 | 144827000M LR—C P 1
31 | CP04016 +FRaxy M4X16 2
32 | WRAO4 v IH¥T R M4 2
33 | NP0O4 A7V Fy b M4 2
34 | TRK04012 6 hAXY 10. 9 ZHKRI M4X12 1
35 | NAO4 JFvh 4 232 M4 1
36 | 139030000M o RCP 1
37 | PC032016 Uy 3. 2X16 2
38 | WRAOS vt 7R M8 2
39 | 0937320000 Tt 1
40 | 0937330000 oY ares Ry b 1
41 | 117574000M ZFL—k 2
42 | 144830000M TP R—2 =k 1
43 | 1255600000 XYV AL T 1
44 | 145080000M ALKRCP ;M12X40 1
45 | NZ12 Fvh 8 2¥=2 M12 2
46 | SPAN-20-5H T Vaszke 1
47 | 1301790000 FVay VYo UR 1
48 | CP03016 +F~_axy M3X16 4
49 | WRAO3 eI TR M3 4
50 | WS03 INEXPAFR 237 M3 4
51 | NAO3 vk 4 232 M3 2

-70 -




TSW2000 HHEiEA—55w/1
ToV2:5v7

4—& AFLwFO—35
El¥st 4

t—TT4RE—%

O—A2Yyaxry4
.:—_ E‘\,

sx»rvﬁ 39/532@

FT—IIAE oY

22[[]—

AbbyFA—=5
Ent

AkbyFO—35
Bzt

35

FIILBE £LY K
3

6
37
F—LELfEEE Y

FT—LBiEETT Rk T—LFfrEE Y

ARLyFA—5
Bt

ALy FA—5
EEEtE Y

Bl e S

e
N—)LiEH Y
1
—
62,63 T—INAE € Y
RiiEE| o & B W oam A PR &%k T =
1 1435930000 a— R, AT T —A 1
2 1333941000 a— R, Ukkrt 2
3 1110350000 YT TN ARE—H AL T 2
4 10937320000 XY 3
5 CP03014 +FRaxy M3X14 4
6 | CP03016 +F_Raxy M3X16 2
7 | WRAO3 v AR M3 12
8 | Wso3 NEAYFHR 297 M3 6
9 | NAO3 Fvh 4 232 M3 6
10 | 0937330000 oIy~ Rxy b 4

-71 -




TSW2000 HHEiEA—55w/1
ToV2:5v7

RiEE| 5 & B - <R &% T
11 | CP03016 +F_axy M3 X16 4
12 | CP03020 +F_axy M3 X20 4
13 | WRAO3 v 7R M3 16
14 | Ws03 NEYPHx 297 M3 8
15 | NAO3 Fvh 4 232 M3 8
16 | 1206260000 ZFL—h 4
17 | 1203130000 n—XYaxyx 1
18 | 143409000M 7Ty N AT oY 1
19 | 143981000M oY —FL— | 2
20 | WSA08 NEYFHR 337 M8 2
21 | NSZ08 afBZFyh 8 2va2 MS 4
22 | 1122090000 H KW 1
23 | DE012 EHZRAT 12 1
24 | CP04016 +FRaxy M4X16 2
25 | WRAO4 v IH¥HTR M4 2
26 | WS04 NEAYFHR 297 M4 2
27 | WRA16 IR M16 3
28 | 1434060004 H 78— 1
29 | BSPZ08016 afZSWYFHRLE 7 M8X16 2
30 | WRAOS vt 7R M8 2
31 | 143408000M LR—CP; 3 1
32 | TRK04012 6 hARY 10. 9 ZHRI M4X12 1
33 | NAO4 Fvh 4 232 M4 1
34 | 143407100M 77> hCP 1
35 | BSZ10030 aBFAZRNLE 7 M10X30 2
36 | WSAL0 NEYPHFR 337 M10 2
37 | WRALO EI7HHR M10 2
38 | 0774093000 7o 2
39 | 1448310000 AT VAL T PW—4 1 1
40 | BZ06020 AL 8.8 M6X20 2
41 | WS06 NRFHPEHHX 237 M6 2
42 | NZ06 JFvk 8 232 M6 2
43 | WRAO6 e AR M6 2
44 | 144832000M YT — 1
45 | BSZ08016 aHEZKRNLE 7T M8X16 2
46 | WSAOS NEY A 33T M8 2
47 | NSZ08 afyZFyh 8 2va MS 2
48 | 144833000M A 1
49 | BSZ08020 aBFHERLE 7T M8X20 2
50 | WSAO8 NEYPH X 34 MS 2
51 | 1315090000 R—r 1
52 | 144993000M T 1
53 | BSZ08016 aHZRLE 7 M8X16 2
54 | WSAOS NEYPHx 397 MS 2
55
56 | BZ06012 ALE 8. 8 M6X12 2
57 | WS06 NREYPHx 297 M6 2
58 | NZ06 Fvh 8 232 M6 2
59 | 1398440000 AT RY ¥4 m 1
60 | 1319890004 NEFANTT v R 1

-72 -




TSW2000 HHEiEA—55w/1
ToV2:5v7

ZFLyFO—5

FT—LEtETT Rk

RBlEst2 4
ﬁ//ﬂ
10
& 13

©O— 14
15

r—=>

44—y RhLyFA—3

Bt Y
2
T A
® s
H S T
R—8Y3% 8 HAFUA %40
o é}-; il
= TG A
= G
N F— LB
\¥ 4
0 t—TFaRs—n ALY
ALUF /E}:ﬂﬂ ——
39
3
F=TILBE &Y

22 QR (] (e’

33—8
328

@gz 28 23<a}\

ArLyFO—F
RBl#rt 4

34

FINBE LY @\ 4
36
37

F—LFI B Y

AbLyFO—3
Etit

A—F—3>
st < Rk

R—)Ligte Y
14150
62,63 FT=INAE &Y
&S| & Gn & il A £ i % 1 =
61 | 144853000M T 2
62 | ILT300 fvvaay 7 H A 4. 8X301 -
63 | ILT150 fvvaay 7 H A 3. 5X152 -
64 | IRF250 Y —h&ZA4 7. 4X250 -
65 | 0853120000 S 2
66 | CP03010 +F_axry M3X10 4
67 | NAO3 Fvh 4 232 M3 4
68 | WS03 NP Hx 237 M3 4

-73 -




TSW2000 H#AEEIAR—55w/\

Fohx
2 i
0
¥
14106
TORE-OOaA- T
AlEE| & & il o A PR [R5 fii
1 0009301000 NovxF ;R—150TR (ST v M5} 2
2 109734300M 777w bh; 150TR 2
3 BSZ08020 aFHRLE 7T M8X20 4
4 | WSAO8 NREYPHx 337 MS 4
5 NSZ08 afZFyh 8 232 MS 4
6 1125540000 THR—ILEY: 12V 1
7 1369770000 VY77 2
8 8019650000 o2—RK:9500X2700 1
9 1414770000 aNF—rFa2—7 ;150 -
10 | 1172730000 FaTH L N—FRACP 1

-74 -









| s—0812198B

* #

TRERMR

EEE %M

WL E =P

PR

(A 3-% 3

fil = & =

A ) SRR

i 1L B %€ PR

BE & & 8 AR

& 4k = % P

E5-85353

DGE=BER5

098-4100

DE-24h2

l35-1152

NXE-3172

PEE-00 3

3230158

TI=0E7T3

A l-B0E0

Ban-1200

Fatd LB L 06 1 g 2
TELO123-26-1123
FAXO123-26-2412

e f E #8140 6 1 i # 2
TELO123-22-5131
FAXU | 23-26-2035

e A o o = A B S 2
TELOIg2-22-1932
FaxOlE2=-22=-1888

W R 1V H 12 W4
TELO155-37-2080
FaxX0d155-37-5137

Bl Ea Iz 2T HLIG B2
TELO1S3-72-2624
FAXD153-73-7540

TR TSN AR 40 L L skl 1 20463
TELOI198-45-13211

Fax 01 88-4E-5B858

B ek L) = vl R R B o B 1T -1
TELOZ22-388-B573

Fax Og2-388-B735

oA B oss W R 25 1 2 =1
TEL O2B5-49-1500
Fax1285-49-1560

M Ebh FHAR 7T04-10 3
TELOBGE-243-1147
FaAXNeR-243-12648

W mEEmA- i1 A3 9-1
TELOSE-388-B850
FaxO0oe-385-6710

L 2 T 2 TR T I T A
TEL O98B-53-2222

Fax 0egE-S53-2233

39S



